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Py : 1. seadgy elenndaemnid aflung m4da, Lfamnd) o snengs eredn sy JfﬂUﬂM,ﬁ

Osneirenayin. dai's LD  @anmul iy fe ompd  aataanesiicinenf
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| e b dp Gavedst(h b hidait aIenIegiyat's G yobt Hebs 1 1851 1h damih.
Instructions : 1. Check the question paper for faimess of printing. If there is any Jack . f fai
inform the Hall supervisor. il

2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
SDUY : avadennd s e p16418 fleysemend Osnain gy
Note : This question paper contains four parts

U@ [/ PART I

&oiy: (i) HDN S H6w18:3(675635LD aledL welldaap.

(i) Bsapp  Cumdsiones e ufenes CaikQs(bss a6 GO G
afeL_ufepawuip AL -
Note: (i) Answer all the questions 15x 1=15
(11) Choose the most suitable answer and write the code with the corresponding answer
. R gyrepenw ST L 50 CQumrmenreorer, Quwaedw Casmerad Fn_L_1g 63T ug-;_}._i;ﬁ_;
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of radjus ' ich i if
adius K has a charge Q which is untformly distributed o

its surface. The co '
rrect plot for electrostatic potential due to thig spherical

shell 1s:
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1

Ul L auigafley)in HGInTeTy SewrauL sulg aflg)Ib CLPSITMTES)
o_GTETE. (et &Hmiselsr suflursayn §Grwsrey WarGarmii i
Frrer  Srhslieid POl eweussLILL (BeTeTeT. PG

UG EUELOLILTIGD 2_siTer &y G Sy allsnaamw &W@A
9) UL quigeuid :

@) FSIT auigauLn ) (3)6m 6 ensuT e
Three wires of equal lengths are bent in the form of loops. Ongft

a semi-circle and the third one is a square. They are placge r
same electric current is passed through them. Which of % owing loop configuration will

experience greater torque ? 9
a) circle b) semi-circle C | d) all of them

. YGrriresrser LOMMILD By TT65TS E6THH (G Qu.l |61l @1 FIH6iT:

9)) Gursmey siser o) anlsen gimar CrGearm giseir ) goeieniasT gaser
The particle which gives mass to profgng afhpeutrons are:
a) Bulk particle b) Higgs party
. WADIGToeT amailsst GusT
DD LHDID CloTss o)1
) 1: -2 =

The ratio of kinetic engrgy to
atom 1s: K

a) 1: -2

¢) Nano particle d) Einstein particle
Tenguiled o _6Tem TEVSLTTET sl @)wss |
allalg1o: |
@) 1:1 ) 2:—1

total energy of an electron in a Bohr orbit of the hydrogen

Im

]

b) "W~ c) 1:1 d) 2:-1

. Blunilwev 9 o1 (9ussd, Cauliuplme, 96d) wrouTr@smer H5HE

FLOLOTEUT LIV SN LOTMHMILD FTS6UTLD:
o) ueiTGuh <) Qjsmavullusmp
3)) 2_sref B ,HMEL LoTHI F )L eisT L) &5 &)

A device that converts variations in a physical quantity (pressure, temperature, sound) into an
equivalent electrical signal is called:

a) modulator b) oscillator ¢) transducer d) demodulator
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6. vweymy uriy 0.05 m? Qsmevr_ 800 &mmIsememi|emL LI HIDLIF&(HET PETM) 5x1.
SeTa)ETeT  STHSUYVSFDG CFBIGSSTSH sneusSLILBSIBTMSI, FLOSHET -:9]4%
Qurmsg 0.1 s  Grraglsy sibUléasmeflsr gemd 90° ojemey SHHDULILLTED, o

srenTL_LIu@bh Wsiteflwbs@ allwaullar Hjerea.

o) 2V )02V @) 0.002 V ) mf
A 800-turn coil of effective area 0.05 m” is kept perpendicular to a ma d5 %04
i i its copla in 0.1 s, the 4

When the plane of the coil is rotated by 90° around any of its ¢

induced in the coil will be : N }
b) 0.2V c) 0.002V &‘ ) 0.02V

a) 2V
7. pVsFAm ewwlisny HMlweyd L weilwsv L,EUWS WeuBMHEGLD LwesTL(

WISSTHTHS 9|eMeVS6IT:

3|) Ymosgrd HB)ider 24) TG B a6
@) sTdev—a a6 FF) Y s&)iaser
Name the EM waves used for studying molecul e and also in forensic investigation;

a) UV rays b) Gamma rays c) X-rays d) IR rays

8. @ssrefing Osugssrar DHesulle Sa&OUL_DeTer  epeiTmy STy,
CrisaLsslaafly @Gr glemsullsy 6 BesrQerrmi_p / Qesvslmgl (U

BHallsL 2_sirer &0 B—uller sprevs sir 1£'5) Gewsvu@ib aflenaulles EI'E'ﬂtﬂTl.ﬂﬁTﬂL'

&
V2I%y, %o

21%, EaTh
QIJ d \ Vv2md @) nd FF) 2md
An arran gewnree parallel straight wires placed perpendicular to plane of paper camy

. .
same cuNalnng the same direction is shown in fig. Magnitude of force per unit length
' ire B is given by :

TP
90°
d
A
2%y 12 V212 2
) mtu b) ﬁl:d c) “d““ d) ;:;
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9. LiledTau(HLD Gal_(Hsefler Qgm@lillerms Glaueafluf(® Q-afled o_(maurdsiL@in T pds;

@awsoLm(h) eTedTEuT ?

=) NOT =) OR @) AND %) EXOR

A . @
N

Which logic operation does the output Q of the above gate combination Eudu

a) NOT b) OR ¢) AND
10. om wevamid LC sppfled  1larGgdaluilev o _GI6Im

m’ Bsirepm_ Lib Q.
& HeEUUbBL  Gurg,

SDMTETE T  WwHmID  STHSIYOEIEL  FLOw
SleTenri Ll glliy:

Q Q

) 5 %) 75 @) = \ ) O

In an oscillating LC circuit, the maximum charge on @pﬂﬂltﬂr 1s Q. The charge on the
capamtnr when the energy is stored equally betwe lectric and magnetic fields is:

) 75 b) = \Q d) 0
11. dissreumio plmmuseflsd Glu@m Gsusid G% 6THI7

9|) omEHT 2y) Fsuliy ) LIFeDF
) emars g @Cr HlamsGeausid @%mm
Which colour of light has the highest s

a) Violet b) Rme c) Green d) All have same speed
12 : s i 3 .

. (GwreT-aneuTL mwmuuw%@.
_ 12400 %A s B6 o
o) /==——m N @) A &M ) @) emeu sTFHIa LD (3)semsv

Duane-Hunt law is:
) A= 12400 _

=he __he ,
b) A=-m c) 4 75 d) None of the above

13. @m oensPgssetsr Bleaop eanseaflar alldlsn 1:8. gaupplear HINESH

240 B!
o) 18 &b o) 12 @) 2:1 ) 811

Two nu ave mass numbers in the ratio 1:8. Find the ratio of their nuclear radii.
a) 1:8 b) 1:2 c) 2:1 d) 8:1

14. smmm e erenasd  Qarewr 1fleGudhd]l  gearm  flsirasvermed 1T GaRTHDLD
QrFinuiuBAng) . eTsaamarrer @aeanriienid g sy ng 0s1CHdbalullsr
s Osehasdlamulld g Werariis trer apepemiowirs Gl maliu@EnS!- stadfle,
Leireumio Hyeneysefled wrmminsd G)priigl s1h?
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9) HML 9),) thssrearapdh s Coumyuir®

@) TN VT ) 1flsdremmt1_ip

An air-core capacitor is charged by a battery. After disconnecting it from the batt,
dielectric slab is fully inserted in between its plates. Now, which of the following Quany.
remains constant? >

a) Energy b) Voltage ¢) Electric ficld d) Charge
speflif e CloneflGuipmy pmmsd 3313 eV Qaredr (I ﬂ*ﬁ?@ L)
/] ﬂl:.l[j

LWISSTRIS T &3 9jsmevfen ih:

) 2062.5 A o) 4125 A @) 6000 A .;50 A
Tlrc threshold wavelength for a metal surface whose photoclectdc W |

IS:

2) 2062.5 A b) 4125A ¢) 6000A o d) 37504

ug! — 11/ PART - 11
TouGugyid gy alarrasens@  allen_wealldage Q

IT  GTeunT A :
nﬂmLmaﬂiﬁsqlb. g .,

Answer any six questions and question number wmpulsury

IAMIES BT Sjenr gy ujsir sTETDTED 6T S .
What is half-life of nucleus? Give itsm expres '0’55“ B e o o

nction g 3313,

6x2=

Fcn N wsy D DEVSET 6TETMTED 6TETEITT L&

. . | ETE"HE“ . . -
What are gravitational waves? How.aresd "0 2 @ursSEOUGSTDET?

produced?

SHEITEM LD 617 sTeUGUT M) B)mss Cegisr(Bip?

What kind of magnetic propert

%uld (1) permanent magnets and (i1) electromagnets hay

Scanned with CamScanner

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com Scanned with CamScanner


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.TrbTnpsc.com

20. erovdt’ Treflwed Haae BT i) Hewioiiled i urtnissr ereTmTey sTsiren?
What are repeaters in an electronic communication system?

21, @fwer o _gunb wpHmib iewmailedtGring) sr6ir dlanri Bmwrah 0\5Mdnag?
What is the reason for reddish appearance of sun during sunrise and sunsel?

2. om sLGHld@ CenallGui 1fsin jeoroneng o)medr LIy b@S CFmEGhnTs B\,

&M T ENTLD Tn )], *
The electric field outside a conductor is perpendicular to ils surface. Justify.

23, 0STETHS Syeevmer @uihlr jemevmsit HjeveV. 6167 @

Why electromagnetic waves are called non-mechanical waves?

4. 10 Q Bergew. Qanedn. s NQuinedry Lomres @ apdhariuc® o) mer Qr
porgenstt  Gured apsiig e minmThSILGSDGI. @) CeuT (g (o NN st

——

ST ML MW 36018 ([H%.

A wire of resistance 10 Q is stretched uniformly to thrice its original lengfMgyCalculate the

resistance of the stretched wire. O

@@ - 111/ PART - 11

erewauBugnie M alleTTaSEHSH S aflenL_wefl&hs. Nﬂﬁw 33s@ma_LTunors
6x3=18

aflenL_wefldasa)b.
Answer any siv questions and question number 33 Is com

oL Gur® suyflwrs urubn
BeVOWEIL ClETENTL g sTas

12
N

usn WergemL | kQ oo @QOHS0GUTS
PGl Lsmss sanbdlhs. (Gm@ et

&(HBIS) < : ,
I Ry=1K0 I

A
"

%oV Ry= 2600

l

-4

4 ,
er diode when the load resistance 1s 1k£2. Use diode

| .\
Find the current througt@
®

approximation.

r = -— = - — —

N\ |
Q' v |
Ok LB

\ |

“ - ——
o

26. WerenmupbspoTeflenuis Lwiedn 1 G g eTeuaITmI ORI Narelwss

aflengenw Uil e ur? |
How the emfs of two cells are compared using potentiometer?

Y
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27 wrwrda gweirameflan v i mpamaofon dyghliimnmm Garensuenuig gmai.

Derive an expression lor de Braplic wavelength of electrons.

28 el inans,en — ANy My anemi g,
Write short notes on maoderton,

29 mdleon g, @gmamevatlay o i i Bay i et i ] )| 67 j ' i ’
Peowi & el ank Bgyuan it spony an 1" ) my165m @ewst el uflsur F_@U@Ufgq'.’
gimen 100wl iman gy Wlavsin Aadr @ymiluig, Glgn amavay 0.5 cm WHmILD (3 1pelleir hemip ¢

Cm ET'E'IIT [“11“]”!:1]“ -h‘“" ",lfiﬂ‘n“l-nlfujl“uj f;]fllh‘llll;"}ﬁlll' ff],ﬁ]ﬂ" 'F’l!?j" ”‘jjﬁﬁﬁl 'hi‘fnl‘,', fj’ﬁ]"r

A compound nncroscope has i magnilymp power of 100 when the imag
the abpective haeca tocal Tenpth of 0.5 em and the tube lenpgth 1w 6.5 ¢
lenpth o the cyeprece

30 iy mnsvanemnif™ 1 Ney (flatit Banrn i’ 1 0 Gt ¢ghlm e

at infin
L1s the fi

Lo

tﬂﬁhm@,

» - ; '
SEUDM I (o awned ghlmed e gy dm.

(1) om srevamarn f 1 MNasr 1Mesr@eornr’ 1 p o it flmem

wiemestss Soimiur @ o e g AR
FTTETLD & 1)) 5.

:ﬂei;{g,lh"ﬂl % o5
QU geudlunb (@)sven;

(1) Deline current sensitivity and voltape sensilivily anometer
; 36

wy Increase the voltage sensitivity ¢f

PUQD glmer @uiflemers @plodg
D& @i Nenerss &HED M (S5 LD (Pemmey

(1) Increasing the current sensitivity does not ne
galvanometer. Justify.

31. ﬁﬂ'ﬂt_.. ClsTensvey Fmeir ML emaufleL 6
IASN UTWUTL g 5(ma. Gue)ib, (@)
ST AT 2_NT&H&a]LD. | ‘
Name the pow |
neme _p wer loss that occurs during #6 Ange power transmission and give its formuyl
=xplain briefly how this power losy u& crcome

32, Murwewrg s Qeug i wmmyn (i

S : . -
Py B J|emevuilesr Glandley QBIWeuHenmLI L

. inie;hf; :c:r.tes f:m (1) Poynting ve- or, and (ii) intensity of electromagnetic wave.
= ‘Tﬂh ,n_)_gjm‘ —q uw mrr@‘ ST BIGBTTHBT 11 L1gas D 2_swLw PQRS erehrm 9
£ r,,;_,. BT 6iT (5, Gefled)  sweudiasiiL Cousm@io.  (@)e :
(MO 4861 5 1) (3,8 B Couemsvemidg; & 6001 & 5] (1) a5 | R

G
Four point char \

an |
e 7 Wir;qn:;fj ls Ibe arranged respectively at the four comerso. 37,
$ E ﬂ L w % w -
i assemble this arrangement.
\ L@ IV /! PART - |V
» % G (@10 aflem | wserfld, m ey,
Lt deifl6 131 15 qugmp s,
) i P
questions. Draw diagrams wherever necessary
1 Coudmdemab, 4,65 |
A% Bt 1fleyy,ma,n oy iy, (pemmuilamenr aflen i
b 'iﬂ.‘lﬁl,lﬂ-
( (-9y6avyy)
21,) Gramii ) 1o glillemury j
o «qml Sillemus LIUIGHI 1 1()dh o] DAL 1 g6d1 oy gy @flsi : b’
GBI HOIENUIG, 46, e s
4
N —
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(a) Describe the Fizeau's method to determine speed of light.
(OR)

(b) Derive the energy expression for hydrogen atom using Bohr atom model.
15. (o) (1) dissridler erGarmi L allgl tpHmib WHesreu s allBlenuid an myam.
(il) Fli swardanpled) LierLBes @i sl erfhGlr Gl merrmev D61 G517

6TEIT T

(16V6VGI)
(@) #L_LsasThsewranisr odsaGsm e aGH@Itb P Ljeirerflullev
STHSUYVSHMeETar Ggrilaneard smalldds .
(a) (i) State KirchhofT's current rule and voltage rule.
(i) Which material is used for the meter bridge wirc and why?
(OR)
(b) Obtain the relation for the magnetic induction at a point along the

A

magnet.

36. (o)) 1= wrissT GsHmEismears gl DD HNI|s.

(fs0e051)
(=) () wrinf) gerler LC spplsy o siren @ wgliiy 1 pH  whHmyib
HlerGsasaluflssr wgliy 1 pF  erers. agrinufley Gasrmmaildsiu@in

T HETHS 2|eMeVSH6Tl6T H|eWEVBHEILD 6767

(ii) Srresrmeaui suflaem 6TeTMTEY  6T68T Tufledr  suerfloeTL VG B0 2 6iTam

& 60TILD Bl & 6METd> HETL Ml Hjeme eTefaT 561 &M 6T ?

(a) State and prove de Morgan'’s theorems.
o)

(b) (i) A transmitter consists of L%‘twith an inductance of 1 pH and a capacitance of

| uF. What is the wavelen e electromagnetic waves it emits?
(i) What are Fraunhofer Line

Sun’s atmusphenr@

they useful in identifying elements present in the

37. (=) Wlewrgpri b Gl welleor  Bergpemiw  sUuilermsy  eTHUBIL
)

Lﬂshqsuéﬂimrrwmmmmg & (madl.

\Q (ysv60))
(=) (1) m U 6

Nemremrenevd  slufledr o wrd 40 m  wHmib aHGL

mﬂm s awdluiler 2 wrd 30 m s o srerg). @@uppIHalent Gw
G{_r,rirwt_@ﬂ urienes SHeu60 Qg i NHasmen GlLming, Gl emsva) wirgl?
[yeNudesr oo 6.4710° m]

(ii) o1 Glrenflusedleir mevramingmeir 6TamauGuIgDID (@) 06Ty emevrds dn ).
(a) Obtain the expression for electric field due to an infinitely long charged wire.
(OR)

75
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(b) (i) A transmitting antenna has a height of 40 m and the height of the receivingiy
30 m. What is the maximum distance between them for line-of-sight c“mm“ﬂica
(The radius of the earth is 6.4 10° m).
(ii) Mention any two advantages of Robotics.

38. (&) Berorpplufleir 5 16, SjsMIOLILY whmIt QFWLITL 1906 aflemd s,
(S)sve051) |
(o) stV L _rmeir m)svr@ewormds sl ufledr 555105mB5 Fnpl 95 GCasne G@, aflg;
aflergsaid. (pafluflwe) wHDID 6TEVEHSL FTedr @WGWW&&&I&@G@ Qe

UL_BIGENET 6U6en T ILE|LD)

(a) Explain the principle, construction and working of a transfkr_o

(OR)

(b) Explain the principle and working of electron mic@_
diagrams of optical and electron microscopes)

_\O
AN
OO

(Draw the compar
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ol efeornsner 2019-20 / Model Question Paper 2019-20 (2)

ueresfleresorLmb eugln - X11 STD
@ wmiilwev - Physics
(SWBIP HpID Hyiideotd euyfl - Tamil and English and version)

gmeulb enay : 15 HAid + 3 wenf) o G kst z6ir 70
Time allowed : 15 mins + 3 hrs Maximum Marks :7( @}
SP®T: 1. NN mﬂmn:m@;,‘u mﬂLm oidal) uBlaund) 2-GENH1 GT681LImg &
Csnerenayn. wdst el @epuilmLie SN, mﬂﬂmﬂ%
>
/

(D
Guw

2 Legunas GlgflefldsaL
2. [EFULh cﬂd)n}g’ 5@&” e Yenant ﬂ@éjﬂj@ﬂ'}@ﬂ} :ﬂlﬂ.c‘i‘x@ﬁﬂ 19 @ m;ﬂ

LJIUM 3 Gﬂjcn‘ur@ LDJLIL BISGIT Gumgmjﬁ@@ﬂj Glehrdleb LHUfEﬁI
nstructions : 1. Check the question paper for faimess of printing. If there is

of fairness,
inform the Hall supervisor.
2. Use Blue (or) Black ink to write and underlinc and p

enc tn@diagmms_
GO : alllennggnen prehns fleysemend Qsnein gl \

Note : This question paper contains four parts \

L&) 1/ PART I O

@l : (i) eendg) ol ssens@Lb efleL wafldsaLb.
(i) Bsayup  Curmssonen  aflevruflen

aflenL_ufleneuTu LD 6T(LDSI%E
Note: (i) Answer all the questions 0 15 x 1=15
. (11) Choose the most suitable answer an@ the code with the corresponding answer.
1. oudlamsullsd o srer enamiyreer oem X = 975 A g@apard Cara. ghenBm

gofls sgiralsfarmsd earigy OlLbGWmg. @)FfHHs e Blptu®n plnwreauils

| srenTUuBb Bnwrens suifls 6u0T1 & 6 .
2)) 10 2) 6 N
1

@) 3 F) 2
Hydrogen atom in gro excited by a monochromatic radiation of wavelength of
.= 975 A. Number of spectrahjines in the resulting spectrum emitted will be:

b5 A @O (B

a) 10 N c) 3 d) 2
2. Uereumid et L& appleir ewwwid O-aflsy & Heur@h srpel YegIler wFliy:
\ \ 2 s |
I\
P | / |
0
/ I
o) 5 ® ) O @ &0 w) 2@
77
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' The magnetic field at the centre O of the following current loop is:

Ho! ol Mol Hol
) g b) & o 0 2o d) L Q}
3. gsullsursirmid 2.5 eV gmmev Qsrenre @)m GumiLreraser 6 w 2 Gesur,
urudler 85 aflalstpear. Gorywgglsr GeallGupn DM 6 sTeufled, oyg

uruledlmpbg QeuaflGunmiu®mIid eTeVsL_FTeiTdeT &
9)) sty 24) @) rer(h) 3) @) revs () ) eTmfliens

Two photons, each of energy 2.5 eV are simultaneously inc$ sodium metal surface

the work function of sodium is 2.75 eV, then from its @_ witl be emitted.
a) one electron b)%tmns

¢) more than two electrons t a single electron.
4. eflamberser sireyiousharer airrsmrid:

3) YW s sTSIGlrmefliiy Q aporfl eTglGlrmefliiy

Q) pafl aflevass O FF)GMISE LR ailsmereay

Stars twinkle due to:

a) total internal reflection Q b) reflection of light

c) refraction of light C) d) diffraction

5. ®m ‘EEI.I'I'I*"LIEﬁT Lﬁ?ﬂrgﬁm_m@iv lergem wgliy (47 £ 4.7 kQ eresflsv 3
QL EupId Bm eusnerwikissfer suflens: '

&MBIGLD 2 )LOEHFST — 2HT — 2 TEHS — Glausirst

8)) ooz T — m@fm & — Glsusirer ) UdFend — o) rehar — DTG T —& Bl 1D

f& cafrbun resmtnr\ 4.7) kQ to be marked with rings of different colours for

1dent:ﬁcatiu@uur code sequence will be:

a) Yfallﬂ'#~ Green®- Violet — Gold b) Yellow — Violet — Orange — Silver

c) Vigple W — Orange — Silver d) Green — Orange — Violet — Gold

psl0 Carem 10 smersener o epLw 61657 60T ws iy ) PEITEMM  Frl

6. 50
'Kl‘:?urr@ 30 Hz 4iQaueir Qarere wrmiglens  BleirGsormi L

5&SIDGI. BT GLmL Wsiterpggzin 300 V o6 B m&sCausi@id 6

ol & Gouermig us &THGLIL6VGH)6iT eu6dlen Lo 6TEUGETEY ?

) 24T 0.4
9 2) 0417 T @))2.62T ) 0.382T
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An electric generator consists of a 10-turn square wire loop of side 50 cm. The loop is turned

so as to produce 50 Hz A.C. How strong must the magnetic field be for the peak output voltage
to be 300 V?

a)24T b) 0.417T c) 2.62T d) 0382 T

el GFpefler o

o) C'N'm™ <) Nm’C” @ Hm" m) NC?m™

The unit of permittivity is: @
a) C* N'm™ b) N m?C™? ¢)Hm™ ANC?m

LI
UGS uilev?

PM $&56UV QST emioliLfled MEFMSHILTETS| (G)ewrdse) 6V umﬁé&K‘u
9l) usGuppluiley o) enfissL sl @) epiufe A $

6V

The signal is affected by noise in a communication sysiem:
a) at the modulator  b) in the channel c) at the receiver

@t \e transmitter

el 2 ewti LFliy ety I WSSHSG5 A wmHmyb A /2 @IEM% & e PO BIm

spefluflesrms @mﬂgiuﬂiu@ﬁm@.@wﬁm_nu@ G.[bri’nl\f&i_lﬁlgp (@b 6TV 6Guflsr
L

Cu@mL @wss QDOPOTaTSH PHeY GCrialled) o 1flpl@ erevdsr evflar Glumio

h h
P ") 2
A photoelectric surface is illuminated successm monochromatic light of wavelength A

and A/2 . If the maximum kinetic energy of ge ifled photoelectrons in the second case is 3

Qués ypmemed allL apsity wL_kisrs @) miLisrT sU urlilsr GleuefGumbmy

DMEVTET )

2he

h
) 5 %)

times that in the first case, the work functio surface of material is:

a) % b) & 9 5 d) 3

& PSS TL_euHMIST (F)wihemas v s Glum(meir 6TE!7?

9|) wuilsfins '\ 2b) wufilsd e

(3)) wewreL e ) Slblkialevs Slsir Ggmsd

Which one of the follogving is Wgpatural nanomaterial?

a) Peacock feather cock beak ¢) Grain of sand d) Skin of the Whale
sg9edlesr GleuliLs R wpmiiot wrfleflserrs o stenGu g1, H-p y-gédai Pay
X~ &FFYILD dﬁ% SUSHTWLILIHID UEDTLIL_LD 6 (%

3) G@ﬁéﬁx@)ugsﬂmmmm @))sul_ (b /) Beireur’ L ib

In Joule’s heblaw, when R and 7 are constant, if the H is taken along the y-axis and /2
along the x-axis, the graph is:

a) straight line b) parabola c) circle d) ellipse
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12, @urg o 1fliptiursir Qumslullesr Amiflweor) erg?

9|) waemasullear L wrHmid 94) GwmHs leTGermi_i_() QLI@&;E&I
@) iP5 o_erel @ lsitemL ) GODbGH ST GlLImd a1

The specific characteristic of a common emitter amplifier is:

a) signal phase reversal b) low current gain

¢) high input resistance d) low power gain

13. 0.5 m? GDISGEGU uriyn 10 sHosEpd CETawL & mer §PET

T S
100 NC  wiiyeorw Srrar  derywsdne  @men Q o_giren
weussLULHeteng). staflsy urifler anflGu uruyh WeTuTwIb: y
<) 100 V'm <) 500 V-m 3)) 20 V'm Qﬂ
A coil of area of cross-section 0.5 m* with 10 turns is in a j

| . plane®wh; :

electric field of 100N/C. The flux through the plane is F pamiiel to aunidg
a) 100V-m b) 500 V'm ¢) 20V'm 0 d) zero

4. Besrarps yemavser:
3) Bwidlr gemsvasr wiHGuw %) 0 ést- S6T L GG
3) QuibSlr enevser LOHMID CBLL_enevsss
) GDISSEDVSsT D4ETT6V @) wirh &y cgimm-:ﬁiNm
Electromagnetic waves are:
a) mechanical waves only |
b) longitudinal waves only

¢) both mechanical and longitudinal
d) transverse but non-mechanical.

15. 9n STeveuesTTlL_1_ifley FMHMIF :
9) WerCevrmy WwHmiLd Lﬂ]:@
) st @eormi L D _EWTIT
B ks TEn

a) bntﬁ;ens&tivity and voltage sensitivity are doubled
it

% Ivity does not change but voltage sensitivity is doubled
CINKO ensitivity does not ORI
5\ ty ot change but current sensitivity is doubled

urrent sensitivity and voltage sensitivity do not change
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uG# — 11/ PART - I1

semaCugd m aflarrésensE el wsilssa)n. allarm sam 246@ SLLTWLOTS
aflem L_werfl&H e, 6x2=12
Answer any six questions and question number 24 is compulsory.

o0 QUULLSN Qurmefsr gl alwsd e 1.541. oBST WTDIPWS

CHTMTHMHEH ST,

The refractive index of a prism material is 1.541. Find its critical angle. @
sreveusTmf LT  etemm ol L grasaib GeumrevL_1f_ L_yr&aLb é Y
sTeusuTm)?

How is a galvanometer converted into an ammeter and a voltmeter? &

By fNGerraller sirenm’ L Lﬁ@in_; sTesTaur ?6psu@eur(m efleuTmig gl wesfledl(H 5!
QeuefGumid 1yRsellwer senréaleorar Bluy MGarméssr w@ G 4SbI)
ClEssTD T BT Heunenm Hmlw @)weIrs). 676517 S:

What is the value of charge of a neutrino? Although trilliong of neu s coming from the sun
pass through our body every second, it is very difficult to chm- Why?

UL enL 2 L seuir Blmwrensy unhm fmy @ully susnr
Write short notes on band absorption spectrum.

2eV Quas gnme GlsrenTL s (p HWELE@‘@QW‘{;E & 6uT & 351 (h) &
c therg

Calculate the momentum of an electron with ki y2eV.

&Te GlsTemsva) MM FT6Y LOESITL 6VL
Show in diagram, the skip distance and the s

DenmLU LULGSHIET ecLpevid STi(hs.

one.
lGaTemTL L LOTMTE H6ITemLD aﬂ%@ﬁ -
State the law of conservation of % arges.
&

Lo LT &H6T GHMHMMBISENETE Tl

State de Morgan’s theureQ
©

Blergrenty searhlentey 230 V Cpir Ulstarwds cpsvdssiL st @)snenrds@bGurg 2 A
lesrGesrmiL_b G5 Uergrewrgenw 230 V, 50 Hz wrpgdles
LOl6iT 6T (L0 B S B Gewewa@nGurg  WlarGarmi L ggler wHiy  GoDEDSI
(ﬂgwmgk

When an in%s connected to a 230 V d.c. source, a current of 2 A passes through it. When

the same inductor is connected to a 230 V, 50 Hz a.c. source, the amount of current decreases
(i.e, | A). Why?
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stemauGuignid m eflaTrésEpsE el weflssa). aflarm erer aaﬁ(gﬁL'L‘rr"qu
6?{3-13

aflew L wefl&saLb.
Answer any six questions and question number 33 is compulsory.

(i) Cevears allFlewuids gnmis.
(ii) sbluflsd o_sirer WeTGarri_L b TTe HeMHEG0EUTS L g0

grenrL_Lu@h WerGarr_LGgler glensFanwd searhUly és.

: o

(1) State Lenz law.
11) Predict th
(i1) e direction of induced current in the c% ring 1 when current in the wir,

steadily increasing,

—
—_— |

! 5
e .

24D M6V & & Teur FLoeTUm_1g

D
enve the expression %lectmstatm potential energy ﬂf a dipole placed in a unify

Frrer LBl6tT 60 &s0 mm:’ Qz ler @) mapenesruflssr Blemev Lﬂf&fm@j

electric field.

Clar
®5$uu1_(§yrm% plev A whmo B Yererflas e slen LG AL

BleTsenL_snws o

100 50
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28. (i) Gevsiidledr FIMeiT suenTIWMIGHS.

29.

30.

31l

32.

33.

34.

(i) peTempElwTeTy) AET Ok Qarem@ster @)rew(® Qevsitasafle
s LevwildlarTed) sif) wHlyster Fnenar o_Haurss Wi uor? allers@Hs.
(i) Define: power of a lens.

(i) Is it possible for two lenses in contact to produce zero power? Explain.

sTeneU CWSILD PSITT) STTRTRISENTS SaDAYLD.

Can we completely replace humans with robots? Give any three reasons. Q

UwsTURSSULBIL WL S F S5 ullsT Wstahnl uL 595 m&f

HmsbH wHDID Wi S HmsHsafisr Qauafiufl H S aulgsuiigsner BULILajLb.

Draw the circuit diagram for a full-wave rectifier. Compare the output wéis of half-wave
3

wellsTaemebE wrmmrs GCrrlurssensr wysuswTsl uwsTu®bSS @i%

.ﬂmm

and full-wave rectifiers. O

QT X -sHF Bnwreould GuTsansTl aTinikkdy 1305 SHalES0W.

Peng uemenLw HTETHSHS CEHTaTMsWTS al wES

g,zju:rr?

Derive the Duane-Hunt formula for continuous X-rays. C explained by the classical

clectromagnetic theory?

ALY T IR HIMWTENOUI 9&5 5 51y u“s'ru.'r_'ﬂ:"fmﬂ UGS uileL om0 G 6T

Bmwrensv euflenssener ailend 5,5

Explain the spectral series of hydrogen which §nfw-r¢d region of the electromagnetic

spectrum.

WenrGeurmi__tv 1.5 A wrwu f;ﬁ!%;mi s AAuler  epwwsHFlL U

&S HGLILIVHMBHS HewhA 55 gL 1 ussa -~ S0 cm
Calculate the magnetic field at l“%uf a square loop which carrics a current of 1.5 A,

length of each loop 1s 50 cmyg

/| PART -1V

DD 5| aﬂmrriﬁi@i' L wal &Sy,
Coemauwmrear ()L S0 LIL_LD SUSHTS. §x5=25
Answer all the

.raw diagrams wherever necessary.

(o)) sVGIBsL &1 HrisnsTar Csrevaimws small.
'\. (Spsv2051)

(<) () m 5L UWeaGsssulsitr UWsiGssgssmamisasrar Carenausnwi
Glumis.

(i) Osfwrs WsTGs5555nsT wIllyswsryspLw B UeTGCasslssT
QarLfemenrudlayin uss Faentildsin @amemssiu@n Curs eunmleT
OsTEuwsT WsTGs5555 neitasst wenmGuw 6 pF whmup 25 pF srefls,
undsit WsTC55 5535 M TEMeNS HemES(HS.
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(a) Derive the expression for the radius of the Snell’s window.
(OR)
(b) (i) Derive the expression for the capacitance of a parallel pla'te cap.acitnr.
(ii) Two capacitors of unknown capacitances are connected in series and paralle]. Iy,
capacitances in two combinations are 6uF and 25uF respectively. find the

capacitances.

35. (@) LC gyeweveyseflsr Gurg Qs HDDV LTDTS TaTE STL_(s. @

L) Q
st

(91) s6Hs alarssnsenHL e 20 63T STOLR 637 537 | 95“:1'-'515“ FLO ﬁl_ﬂ Quy,
(AT Qeuein—Kouzui) UHTUL 5605 UHTHSI STRLSLIT Bl Ham
&

FWSTUTL 13606eS FHa S5 (L. |
(@) Prove that the total energy remains a constant during LC o

tnc equation. Draw g
of the electron.

(OR)

(b) With proper explanations derive the Einstein’
(frequency—K mae) graph and derive the equation

36. (9)) Grev emsemsuller UTUILDS ETEUITT) ”Jmﬁ:‘uﬁégﬁuﬁﬁ"p@ STTUS D&y
SLLUUL S5 uenTh 9% s o_sned b & urhHy whpd CUHSS

e_mitiysenent) upm #HP 0y usnTS.
(-opet
() &Alidart wassv wuppir & . aifseoad  s)  Suday
LIwssT LG\ %10 BT gy mm:t'r%ﬂ#nq w wIys $dEsmar almbasgg,
(a)  With a block diagram 10 exply#hc Snsmission and reception of voice signals, give g
account of the input transdu mmpliﬁn
(OR)

(b)  State KirchhofT's firs
while using the lav®

d second laws and explain the sign conventions to be follow

DT aaean? 9 fu Fasalar gmasall
DB yeuiy uppe SswkuBie  alziHm
G seafler Opr@lemul upy &P oy aenrs.
(Dysvevz1)
wigd] fSIGarri b araTnTe® ereren? B dev Do FLLSTUT(H 5O
sy augals) s saunan af srEamayLr.
s a solar cell? Draw the cross-sectional view of a solar cell and explain

(a) 1My
ction and working. Write a note on solar arrays.
(b)

at is meant by displacement current? Write the Maxwell’s equations in integral i
and explain them.

38. (&) (i) smriusr srussUy upy 96 A GHOY susnrs.

Pe.
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(i) yor Gy sron 10 Pl i Osrem. g6 SHNUSSH GUTGAST Ap)
Ssmalled 2.6 pg yereysLLLflder N esTerSl @?Wf;ﬁfﬁﬁw;f"ﬂf
IS SETIT sTaiTenllGens sTeusuemey? GLogViLd G];in'L_&iﬁﬁﬂﬁU ALY ¥ -

GlFwsLLImT () sTeURUETEY T

(Sysvsv51)
(-ﬂ,) FSGeTTL_resT 6TEOITDTEV 6T ¢ 9| FH6IT g;iag;sufn, &L
CFiiyd allgsHms aflerds F1&6 TG 9EMEVE] Gjbﬂ'ﬁﬂ.‘fb‘
Qumus. [ursrissT GUlésiur L eesGarri_grssfler ULLD &

(a) (1) Write short notes on carbon dating. g
f& utes.

5 TeOT FLOGTLITL 146D
)

(ii) A radioactive sample has 2.6 pg of pure'3N which has 2 half-i
How many nuclei are present initially? Also find itsinitial actlwt}’?g

OR) d obtain the
(b) What is cyclotron? Explain its principle, construction and W
tron siﬂ_ with paﬂs]

equation for the time period of the particle [Draw the cyclo
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wréfl efenggner 2019-20 / Model Question Paper 2019-20 (3)

uettesflegesorLmd su@ty| — XII STD
@ wmilwe - Physics
(5D HMID Bbhieod eufl - Tamil and English and version)

.
STeuLd 6@y : 15 FLLLb + 3 Locuf] '
Time allowed : 15 mi:ls + 3 hrs Maximum

afla@y: 1. A@sg claméseand g A& vdeurd) o eTengT 6T

Instructions : 1. Check the question paper for fairness of printing

Qaerenayn. &aL LSledley @mgﬂﬂ@ﬂf_ﬂﬁ&? DD @
2 1 anquinad Osflalldsa)b &5
2. Hevid Sebevgy B(HLIL Louilenan GI(LpgIausDELD 119 5G4g1e(hMsnELD Lo (hGu
umsﬁn_@g’r,g Geuadsr(h Lb.LIL BISET QUTeUSNEHLI @uﬁéﬁv@m&
is any lack of fain

inform the Hall supervisor.
2. Use Blue (or) Black ink to write and under encil to draw diagrams.

GO : @aelennggner e @ Lfleysamand @EHGB'HL

Note : This question paper contains four parts

@olliy : (i) Siwandgy aflesndse@nd@Lo allenL

Note :

U@ 1/P

(i) Basayd  CunmdsLones Caihos(hds N GOUIL(

aflent_ulenenuLh GT(LOSI%S O

(1) Answer all the questions
(11) Choose the most suitable ans

15 x 1=15
and write the code with the corresponding answer,

. emalGudlseaflsd @rev n':_r'rl_ﬂgmh ulen GrigpGuir gyema
LiwesTL(hFlesTment.
a) beuTL oemen © q b) am&lw emev
c) m(pmlemsv \ d) o wir o FiGlausss
Cellular phnnes uSeyradio-waves in band
a) long wave\ b) short wave c) medium wave d) ultra high freq
LbledT LI uflrenTd LHMID VG
fh YNm’C"! b) ML’T”A™, Nm’C"
\ , Nm*C"' d) ML*T?A2, Nm2C"
mn and unit of Electric flux is
a) ML2T3A 2, Nm’C" b) ML*T?A™, Nm2C™!
¢) ML’T"'A™, Nm*C" d) ML*T?A 2. Nm2C"!

- V=2305in(314) wrpidlens apewsdleir RMS Wsiramagss Caumium® whmio o@ie

a) 162.6 V, 50 Hz b) 230 V, 50 Hz c) 230 V, 60 Hz d) 162.6 V, 25 Hi
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RMS voltage and frequency of V=230 sin(3141) A.C. source.

2) 162.6 V, 50 Hz b) 230 V, 50 Hz c) 230 V, 60 Hz d) 162.6 V. 25 Hz

uLpP® STELUUCETS aimmuslsr mwusdd apuGn s
sTENS?

VG M S5

Magnetic induction at the centre of the ring as shown in diagram.

a)0.2T b)05ST c)0OT

. WEHFET — LUFDF — Flauliy - 050 B suseTwiissT 0% TesT L wrdLluflesr
leTgemnL
a) (4700£5%) Q2 b) (4500+5%) Q c) (4700£10% d) (4500£10%) Q
Resistance of resistor having colour code Yellow — Green — Ret. Id
a) (4700+£5%) Q b) (4500+5%) Q c) (4700£10 d) (4500£10%) Q

. Jeareumip fleranmsy o erer 1PerCeyrri_ip |
STEITGUT 7
a) 1.5Q b)2.5Q

slsy P Lledrg e L_ufleir gy

d) 45Q

Thereisa currentof 1 A i
a)1.5Q

n ircuit shown below. What is the resistance of P ?

c)3.5Q d) 45Q

. FWwheTepenL & umaTESUUL(B FOmsaTs wrHmUUL(BsTer. QeTm
SuL L mqaﬂgﬂm T STl auyellgd eTmTaug ST augalla)i

©_6TeTaT. seilent suflwrsayd @Cr gerey laTCarmiLib QFays50uL ()
Frrer 511’;55%' SSTPIV wauSSULLL O eI HDMISETST 6ThS euigeuenioliLev
o _arem &Hm U Fpuy aflewseww o _sur@D?

9)) sul L euigeuld 2)) SOreul_ L euigeulb

@) s auganb 7F) @)emeu e g
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Three wires of equal lengths are bent in the form of loops. One of the loops IS circlr.-_., ang
a semi- circle and the third one is a square. They are placed in a quc;rm ﬂ:zil;iﬂlﬂ ﬁ-Eldi
same electric current is passed through them. Which of the following loop guratmn\

experience greater torque ?
(a) circle (b) semi-circle (c) square (d) all of them

8, sawenfis gefllser paflenw L Wwé CFilagTeD suTeITa]l6V Gﬁﬂ'ﬁ'&'fgjglmal

| 9 Bniffenas 9}) UGS serallenerey
3)) ypapsugid serallensrey ) GmISE LB alleneTey @

9. 1eV erairugy & @&F FLOLOT(GLD.
a) 1.602 x 10" J b) 1.602 x 1077 ] c) 1.602 x 10°
1 eV is equal to.

a) 1.602 x 10" J b) 1.602 x 107 J ¢) 1.602 ®
10, BIGsTed Ul L& anflurssd GFsLsy b safl
=) Se

Rainbow is formed by of light by droplets of water. Q
a) dispersion b) partial polarisation  ¢) plane pnlaﬁw erference

d) 1.602 x 10”7 ]

d) 1.602 x 10°”]

3) UGS serallenarey HewLujb §IT6Y DML WIS

@) pwsugib serailsvearey HenL_u)ib Mﬁi‘rﬂjﬂ.l_lﬂrrﬁg"; serallenerea) Ly
Light transmitted by Nicol prism is,

a) partially polarised Qmpolarised

¢) plane polarised Od) elliptically polarised

I, smanl rgsit oemiallar Seus) nfyTesullst oyrip 13.25A srefley, D&,
: B eTHMGH &THB(H. -

uTsnsuwlled o_sirem sTeV&L_rmesf]

a) k= 16.64A b) A= ﬂ@ c))A=1325A d) ) A=13.64A
The radius of the 5th orbit drogen atom is 13.25 A. Calculate the wavelength of
electron in the 5th orbit.

a) A= 16.64A 26.50A c))A=1325A d))A=13.64A
12, 90 sefllwsdlsr o STV 25 g emBE6T eTexiley 125 oy ew@assir S5 &
B3 (Lp6iTer | emighaé all&l5 0 HDID ST WP Uy STeVD?

a) 3.125% &% 3¥125% & c) 6.25% & 1250 d) 6.25% & =
Half life of an“élgmeRt is 25 years, then what percentace of sample wi
bty g’ p g ple will be left over after

a) 3.1%%0 b) 3.125% & « c) 6.25% & 1250 d) 6.25% & oo

13. 9@ weoy e Cuir® peten & &meGamio. Qhe AB sugflwrast w
3 SIS wFDUS ST

.K

b) 20 mA ¢) 15 mA d) 11 mA

1k0

+3V
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5.

16.

17.

8.

19.

AP

3 MHz @50 30 MHZ susmruflsure ST Ceuerr CIBB& 510 Lwisiry

) HOT OV LT 66D Bougi

63T D|EMEV LIT U6V 3
@) ureiT S ) QFwméens Qs rer LT 616D

The frequency range of 3 MHz to 30 MHz is used for

a) ground wave propagation b) space wave propagation @
c) sky wave Pfﬂpﬂgﬂ“ﬂﬂ g d) satellite communication
&,ﬁl&i susdlem LD W) 6iTe FFTUL SemnsuEen e G]ﬁuaﬂuﬂ@ﬁ} CLPEVLD Q
9|) &BHHSIMETEET <) YOSSUUL L srsmrem &
(3)) sL_a6T FiFHem ) @)emeu | SNV G G 1D
The strongest source of gravitational waves is
a) black holes b) accelerated mass ¢) god particles d) alnghe above

u&& — 11/ PART —II O
sTemeuGugyb o m sﬂm:ré;as@éa@ allen_wefl&ss. aﬂmrrAZdéfg SL_LTWLDTS
aflemL_werflésa1b. 6x2=12
Answer any six questions and question number 24 is cnmpulsm\
Ueriflm euevdhens allglenwd an m)s. O
State Fleming’s right hand rule. |

Guanigen 676t Gauentenie Hmuwrss sri_fwehs
Why do clouds appear white?

Vm gev@ Qana. Qupiiwe syereney
EQUBLTIT 6163 d: dn 1)

Define the physical quantity whose unit 1s \'@ state whether it is scalar or vector.
iy tHorrds & maCaraflenand sa ma.
State de Broglie hypothesis.

RADAR s1éitLigy stgenends @395%
What does RADAR stand for?®

& 1PH ST YLD WW@&G&@J%&.NEHF&J. o_stef H&er A wmmid B m&06)srem ()
Clauafluf® Y - ulhsmsr el ther sustur enLsTapss?

, DML G VCHOTT VS

In the combination of the following gates, write the Boolean equation for output Y in terms of
inputs A and B.
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E 22. ) Au oemisaEmalleT S TSmBs &S HS.

Calculate the radius of }; Au nucleus.
23, ehglreflwedlsit sTGsHenih @)W HesTem 6T WHMID FeibEemersGnluL(Hs.

Mention any two advantages and disadvantages of Robotics.
24. Scm gyrupd, S0 &HmusERd Qasrevr el angeud &UllF  smefler L,
Qodlwi  flaGarriLn  uridpg. SbsblisGalsT  STHS @B
4

SmiysSmeflsr wHiiy srsirear?
A circular coil of radius 5 cm and 50 turns carries a current of 3

dipole moment of the coil.
U&S\- 11 / PART - 111 0 |
sTauGuenib om allerTds e d allen L wefldseaib. et 33&@Gs L Lmwy

e € mam

aﬂmumsrﬂa's&sqfﬂ. 6x3=1

Answer any six questions and question number 33 js compul

25. forresr Lﬂsirqm‘é',glfu MeusSLIUMID Wlesr @) mapen FwevL(Bb Fl(HL aflens

Caremausnwic Clum)s.
, Derive an expression for the torque experienced by a dipof® due to a uniform electric field,
6. 10 Q srsen_wrés suflurs 5 A HlsirGeaig. b 5 Bflib LmileusTed @ﬁﬂ'sira
Gleuli oy mHmedlsir WFIIH LIS &Tesrss.

Find the heat energy produced i ' ' |
by p In a resist Q2 when 5 A current flows through i fo

27. @revg BergglhE n ﬁ@@ﬁmmﬁmﬁéﬁgsﬂm D|FF6V 6THS (1 L;Eifrswﬁuj]ga
Y. e Nmieys.

266 STHSLIID | B=Lp nlfcosl
THEPES JEANDAN e

F
a

int on the axis of the solenoid having n turns Per unit -

Show that_ the magnetic field a

length is iﬂ=:2!-u,nf{m9.-m3:’1

-

28. wrevdlsT aflflemws = YSEME au(meadl.
State and obtain Maius

29. Gleveitesr ‘ :
Shu:r;utageﬁm:r M P&V rpr eflglulleT g (UL ufls 2 66N g 6TeTdh &L (s
a [a¥WNs in accordance with the law of conservation of energy. |

30. geofl o _10ip eni_ @ (B sTSTHTEV 663 WesVLI(A LD

DTV eTeirew ? ClFwLIBID 54 ] : ; :

What ; . e SOBIUSMSLI LUL_S5IL_6h (5.
at I@G:m the principle of operation with a diagram. g

266 )19 ILIN L& &I&6Tamenerls Lif aflerd
in the elementary particles of nature. 4
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33. @@® YEImLLTeT  wmmb P TOVHL_TTET oSWema  FowTer 1g  LilTmi
Y MVBHTHMEE  ClE:rem(Hererssr  sTevFleD, @ rentigs) 6151 Goaumsors @ uinGH NS
wHmId 181 S Quds oy Hmenevd: Camesimig mea@in?

A proton and an electron have same de Broglie wavelength. Which of them moves faster and
which possesses more Kinetic energy?

u@s —1IV/ PART -1V
DM S G 6T TS EH & LD allem_weflésa)b.
Answer all the questions.

34, o Lsaui FIDUTens) sTTMT6V sT6dT6T? 9| ST suemBHHemer ailaufl.

; What is absorption spectra? Explain their types. &
| (9ysvsvg) OR)

BTESTT ST LWSTUBRSSHIUSHTD FrdHSunomer &w allensre|ssir u!@ﬂs&r?
What are the possible harmful effects of usage of nanoparticles? Why? Q

35. (1) & algl wHmih os6r usVGaim) SHeaTenwasT @GMlHs5 allfal
(1) svanl e smallsl stevsLrrer wHmd yEymi L mer

saEH 0. (e=1.6x10"° C, r=0.53 A) \
(1) Explain in detail Coulomb’s law and its various aspects.
(1) Calculate the force between electron and proton in Hydr¢ om.

(e=1.6x10"" C and r;=0.53 A) O
(9jsvevg1 O

L_alFer — Geiwi Gsrsenarenuw

T M)

Oul_L ellsmFsn s

sTvsL_grafien ewev @uedilener aflauildsE
allsur.

Describe Davisson — Germer experiment whi strated the wave nature of electrons.

ST (PEANSSIUSDS 6T(LSIS.

36. QlavsiTeny o_(HaUTd & LISUITIEET FLOGTLIMTL W1

Obtain lens maker’s formula and m%gniﬁcance.
!: OR)

Fynuler sTVSMs5E Sl 200 g sflurarg &TIUST &TV&HSTILLY
Crraenansds LJ.LLI@Q,@@ DSV 5C'4‘@s&r Qewsour® 38 Hemsayssr / S
aafld), ossNuller umsly, &asEal(s. (UC @er gewr yuersren = 5730
=2, (B 56T) \

«C" is found to be

: ﬁﬁurﬁﬂ% Oy wppib GQewdur’ e allerd s, Wesriommalufled sTHUGD

wBaumy) o Hm ylymenend @GBS, |
Explain the construction and working of transformer. Mention the various energy losses in a
transformer.

i, the charcoal of 200 g sent for carbon dating. The activity of

(ysvevg OR)

01
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Lwil_~sreuil. afullmear' vweTu@®SHF BleTGerri (b UTUjb UL L_6uigey4

smeflar oyFs aufiGu e BTG, SThHsULVSADaTar Caremalamus 5nhal.
Using Biot-Savart law, derive the expression for the magnetic field along the axis of 3 G
coil carrying current.

38. efL_ewGL e sLwaTFEDYIL FwBlenavdsaTar Blunhgsamearamwiielumpis.
Obtain the condition for bridge balance in Wheatstone’s bridge.
(@jsvsug) OR) _
(1) o6 yrrardflevi srallurss Qrudu@amg allerd @s @ g
() Veg = 02 V stameyd B = 50 erafled, 1fsireumid urrL'_um L
yrrsTevLors Osellyu Hose Qaram@ O . Ui 4

g euris eTGaTTi_L Gengss(In) &eanrdd) G5,

e i

I

7

e . — -.

(1) Transistor functions as a switch. Explai

(i1) Assuming Vg =0.2 V and p % minimum base current (Ig) required tgg ¢
turision.

the transistor given in the figure

Coo 1
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o Slfl eflermésner 2019-20 / Model Question Paper 2019-20 (4)

UstTevfleyyesorLmib eu@tn — X11 STD
@) wmiNuisv - Physics
(SO HOID Gyrhdleoid 6ulfl - Tamil and English and version)

—

gmevtd ey 1 15 Bl 1o + 3 1pewf) Lo 16 sadsraRer 270

Time allowed : 15 mins + 3 hrs Maximum Marks :7@'

speyr: 1. ADNGE elendasend aifluns dsl Uand) o GTeTsT LIS Dl
Olandrenepd. wdars LHofe GODUIBLILIGHT  iaDdh  HaTsTHTETIMy Lo

2 Langunag G\gflefdmayn
2. [beuib H6heVS) HmI'IL) eLouTenen GTUpBINSDGLD 1 G859 (haHNAQ Lo (hGLo

| LIS $% Geuadm(hib. i fiser auenmausn@Lt GLishrled LiLcTL Mg sa|Lb.

Instructions : 1. Check the question paper for faimess of printing. If there :: ack of fairness,

inform the Hall supervisor.
2. Use Blue (or) Black ink to write and underline and pen

gl : @aielsurdgner prehi@ Lflesmend C\sTetTL &)
Note : This question paper contains four parts \

L@&a! [/ PART 1 O

@Ol : (i) eoend g aflenndsend@ip aflenL wefldsayLb.
(i) Basayp  Qurmssonenr  feoriobnl Beiiosbss s @D (BLes

aflenLuieemuLb 6TLpHIS
Note: (1) Answer all the questions O 15 x 1=15

@ the code with the corresponding answer.

1. wpyeailevr Gsrensvailsy ﬁmw@@m 9| (LS SLD

t w diagrams.

(11) Choose the most suitable answer an

9) wigafleor =) Gl;_: @) Amjioib ) grifl
At infinity, the electrostatic pDN

a) infinity b 1 C) minimum d) zero
2. amwor sglisemer LukTUBHSS FalFens gaflasliu@id Grmil

) yDmuGrmil uredlGuim @) stulli_e ) STFGHTL
Gamma rays are he treatment of
a) cancer ) polio c) AIDS d) Tuberculosis

3. QT R nhmled Vi whpitb Ve @ew_Gu o_siter s1_1_CGaumur®
2) 27 ) 2 @) 2n/3 FF)
The phase difference between V| and V¢ in series RLC circuit.

2) 2% gt b) 7/2 c) 2n/3 d) n
83
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2.1 V disrasvwrarg 10 Q dlargame. enfiGw 0.2 A BlsrGarriiLgemg G]Egagﬁm
BT 9| & LOIEHTHEM L !
9)) 0.2 Q <) 0.5 Q @) 0.8 Q ) 1.0 Q

The internal resistance of a 2.1 V cell which gives a current of 0.2 A through a r+r:sistmmE
10 Q15

a) 0.2 Q b) 0.5 Q ¢) 0.8 Q d) 1.0 Q

Lmeirggevr sredsuarmifi_Lfle 1 A iflerGermri_ib 300 aflsvsmensy o_(m

allvseme) o mauTsHssh Chemautiu@id ler@arr L (b

) 3 A <) 2 A @ V2 A r@
In a tangent galvanometer a current 1 A produces deflection of 39° afhe cnt require

60TITE) |

produce a deflection of 60° is

a)3 A b)2 A c) V2 A ’(mm
WleirgenL_uflest ufmenTid

o) ML'T3A> o) ML*T'A™ @) ML*T" 0 ) ML*T™' A2
Dimension of Resistance is

a) ML'TA 2 b) ML2T™'A" c) ML'T§A d) ML*T'A”2
B)renT®H @)swerwirer FUOGET g HenmeL srHuB LIy seaflest 61evremf)dsenas
) Ypyeaflseor ) &1 ) 8

Number of images prouduced by two parallel pl 1rPors is

a) infinity b) zero

Ulsstau@pid 1flssrayaseir S| seflsT )
TSI
) 1=4<2<3

d) 8
DON(WLS5S BDMVSENET TN 6ufleng,

@)2=3<1<4 F)3I<1<2<4

Drc @.?re

(a)

(b) (c) (d)
Ea;nlklhf zl;ctmstatic pnergies for the above system of charges in Increasing order
<3 =4<3<]| (c)2=3<1<4 d)3<1<2<4

©
DESH[ Flen s Mg

o Q T UL ST WwHmId Frmed YL ETOSFH DG 2
) Tin =di ) T\n=0.6931/1 @) Tir=1/2

i : /F) Typ=0.
R)e%atmn bew Half life and average life of radioactivity is il
a) T, b) T12=0.6931/1 )Tip=1/2 d) Tyn = 0.6931

Lo Jerey oy iafle, Hereysemée @ Cu o erer Gl

B)mHs GousivrBin?
9) 2D <) 3D

94
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11.

12.

13.

14.

15.

16.

17.

www.Padasalai.Net www.TrbTnpsc.com

In a Young’s double-slit ex

‘ : periment, the slit separation is doubled. To maintain the same
fringe spacing on the screen,

the screen-to-slit distance D must be changed to,

a)j?l? | | b)3D c) V2D d)V2/ D
SPEHEOTLUDDIST @)uihenas e BrGesrr) G ummer 61g17?

9)) wulledn @, 9}) wufled 9| E

@) _mmw SVG i) Bluflmisevg gler Ggmed

Which one of the following is the natural nanomaterial.

a) Peacock featper b) Peacock beak ¢) Grain of sand d) Skin of the th@
BV plm LED &sener Swifldsa LiweTu i Glumr(mer Q
9) SiC <24) AlGaP @) GaAsP ) GﬂlnNo

Blue colour LED is made up of
a) 'SI.C b) AlGaP c) GaAsP d) Galn
SPHETEID DM A, B whpid C oyl epern) e_aral Gaer ofgerbdin 0 erar

QmpsTev, Qeuafllu® Y srsiresr?

) 0 ) | @) 10
Ao r_P\ X e
Co
What 1s the output Y in the above circuit, when all the t@puts A,B,andCare0?
d) 11

a) 0 b) 1
2eV @Quss mme Ol menT sTeVd L rmeflesr D
o) 7.63x10% kg ms™ =) 7.63x10%* kg ms™ @ 3x10¥ kg ms” ) 6.63x10?%* kg ms™

Momentum of electron having kinetic ener IS.
a) 7.63x10% kg ms”  b) 7.63x10%* kg ms’! 6.63x10% kg ms”  d) 6.63x10% kg ms™

& slilwlsr o wrreTs) () 6T

Uy  womith egmHEGL el

WOL_BIGHBTTS ()5 Geuennt(H)h

) 2\ <) /% @)A/2 ) 4A

The height of the transmi rgg Qxei ng antenna must be a multiple of

a) 2\ b) A c)A/2 d) 4A
el

u@gl —I1/ PART 11 |
sTem6uGisn) b Q&zﬁ@é@ aflen_weflssa)n. aflerr eranr 24&@ SLLTWLOTS

aflen1_wieésatayd. | 6x2=12
Answer mymmns and question number 24 is compulsory.

geflufler L5Emid Gamsirenss (Principle of reversibility) sTesTmmsL sTedTERT ¢
What is principle of reversibility?

Besryevs Car@asT perenpewreTn) Claul1y.d ClETsTarTg) BlDIa|s.
The electric field lines never intersect. Justify.

95
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18. Qumrs ojgeuri @fmmﬂllﬂgllsi'rm LqLu'n'a'&Taﬂsful_lﬁiif a=0.95, Iz =1 mA ereuflsv, Ic mq‘.

Ip. wFUemu HTaTs. | B
In a transistor connected in the common base configuration, ¢=0.95, I =1 mA. Cal.;-ulah

www.TrbTnpsc.com

values of I¢ and Ip.
19. gdlwi anm afldleows anm). ‘ 28
State Ampere’s circuital law. |
20 Qeuliuplensy GTHENL 6TEIT U TUIT).
Define temperature coefficient of resistance.
21. dyrenmdsui suflssT sTaTmT 6T6oTEN?
What is meant by Fraunhofer lines?
22. & fsdmesr WeTGarmi_ L ib STETMT6V 6TEIT6UT 7
What is meant by wattles current?
23. A wpmis B AW Qm sgflwsss seflmseflar 0T
20 gl fsser wpmd 40 AALmser. QSTLEHGS
6T6RITENT 1% emas uilsUmesr S| S & HGHmarL)  Glumm)eTeTes 80 @@L,ﬁja;@&' 31
&.@smswﬂé;

Une A wpmib B gydlweupiler Assaumiibs o
sTEUsUETEY ?

Half lives of two radioactive elements A and B are tes and 40 minutes respectiy

Initially, the samples have e i '
; qual number of nuclefgCalculate the ratio of decayed
and B nuclej after 80 minutes. \ ’ numbem

24. eTeus L rreflsr 2 hbgwrearg 4000 A gmevb @ e soGUTLL mesfleir 2_h%s4)

;L;mrr@m Curgy, sTevé L rrevfleir SlenaG 5! LIL| 6TEITET ¢ 3
at should be the velocity of : |
B ty of the el that its momentum equals that of 40
U@@f PART - 111
sTaGuaih oym, aﬂmlr@@ all ;
oL weflés. i : '

Pl wemss.  aflarr et 336 @80 Ly

* & " 6 F :
Answer any six questid Mestion number 33 s compulsory. 3 “ .

Crrurssemer Clumrms s wrer THSSH55 T Hae

§nf Robots with relevant examples.

s . . .
H UrUesu orhmisugeir epevip, Blssrerflwss @ aflsnssnu ads

96

e e —————— T e ———— =
Scanned with CamScanner

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com Scanned with CamScanner


https://www.padasalai.net/
https://www.padasalai.net/

28.

29.

30.

31.

32.

33.

ap,
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Two cells each of 5 V are connected in series across a 8 Q resistor and three parallel res?sturs
of 4 Q, 6 Q and 12 Q. Draw a circuit diagram for the above arrangement. Calculate (i) the

current drawn from the cell (ii) current through each resistor _
&I OIFTLIL  9emioli ey Qv o miliysemer o flw SIS GIL-60T
afleurl.

Elaborate on the basic elements of communication system with the necessary block diagram.

(%

sreaGaTTIf_L T @6tenm )il Ly stéiairm) THHIITIEI 6TETLIENS aileuifla s
Discuss the conversion of galvanometer into an ammeter.

(i) yemevi eflgleniids g mjs.

(i) 60° seraflenereys  Garewiin GarawL.  Gurmeflsr  speflallvsey

& TS5 (H) 5.
(1) State Brewster’s law.

(if) Calculate the refractive index of a material whose polarising angle is 60"
(1) 2CsrGLriy steTmme ereiran? TEHGIGHHTL (B P6HTMI H(HS5-

(i) CFrGLmeT eTalTmT6L 6T6iTET? 6T(HHGIHSHTI_(H PEITMH) ﬁ@ﬁ O

(iil) o GFrumri eTaTmme) sTeiTeur? 6T(hGGIHHETI_(H RETMI 5(H
(i) What is isotope? Give an example. \
(i1) What is isotone? Give an example.

(i) What is isobar? Give an example. O
of @msam epursr yeme@umnmluile, 150 @rr,rnrr wHy CasreimL WlsT

Blenedtot o_sreng. e ummu@gguu@%@ AerGasAluilsr OpGEs5m5S
sa@UlysEsan. 9Sli6euanr Ll e uller suewr 500 kHz s9mbay 1500 kHz

suew i 3)(HdGLD 6TerTd Ll&HTETS. | |
Calculate the range of the variable capacit@is to be used in a tuned-collector oscillator
which has a fixed inductance of 150 pH _The iréquency band 1s from 500 kHz to 1500 kHz.

P whmid Q dw @)w UG

Grurdflurer GméeE el G Uiy A
. erGasdlsener @enL Classiiuilsd uL_$3]s0

" L] - ] q -
o epLw eTariyssT CFmsuubSsarDsT

-\®

l identi tional are
Capacitors P ﬂh have identical cross sec | :
thepcapacitors is filled with a dielectric of dielectric constant &

as A and separation d. The space between
as shown in the figure.

Calculate the capacitance of capacitors P and Q.
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LI
ugd — 1V / PART -1V

S WATE G 63T T 5 E1hd LD allemL_weifldaa Lb.
@gmsumn‘m @Lféja;aﬂsb LIL_LD 6U6MT . S XS ._.42!
Answer all the questions.Draw diagrams wherever necessary.

34. PN 558 o_mairsasiiu@ams allord@s )ger V-l Ji'mﬂLﬂmsblﬂfm:iﬂ allourd)ss
Explain the formation of PN junction diode. Discuss its V-1 characteristics.

(2)60V6V5) OR)

(1) sTev&C_greflsir g Nymiis )smeV B 6 g & mevr &mmuwﬁqmmﬂ

(ii) 819 x 107" J @w&Es ) nHmeneUss A . L{GH'F“'—I—"'GUH%
barsensd sansdlBs (YGrmiLmeaflar Blenm 6T6VS L[ m el 637
LDI_IE;J@ cgiﬁ]a;m"-@m) &

(1) Derive an expression for de Broglie wavelength of electrons,

(1) Calculate the de Broglie wavelength of a proton whesg
81.9 x 107 J. (Given: mass of proton is 1836 times @

GPS up) £ oMbs GarenrLg wrg? GPS @)

What do you know about GPS? Write a few applicgtions of

(9jsvevg O
WlsTamhg oensvufls sTemeuGwisnb LGg U
Write down any ten properties of electroma '
Cumri oem) wrdflenws LIWI6ST LI (&5 551
SHDINUTENSEETET Dy réHler Gar

Derive the expression for radius of nlm fa hydrogen atun; using Bohr atom model
g5 OR)
BT Gevstr s spevtpilesr L n

Obtain the equation for resolyj
37. WBesrGesrme 1 _1b LU LD

i K

etic energy s equa
ctron).
39;

SITLIT(H&HEMET 6T(LDS15.

S.

36.

A TeT Gasrensusmuil GClum)ss.
& power of microscope.
S sLUFRGallsT g5l om Lsrefufled a7
oW Glums.
tic

STHSLI L|6VS 5168 i su1

Obtain a relation fot : : .

current. K Induction at a point along the axis of a circular coil cam

5 \9 (160508 OR)
@@Qﬂr ST 67 LG Hlem ey Blsirerrps s, S DETar Carenad®

38.

98
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() BlerGarriiL_gglsir misimonrd)fa Qarerensamw allaufgg 9H0mHg @b allguiler
BIETT 6119 6160 GClum)s.

(i) 10° m* BosEeu urty Qsreaw. 9@m STiflrssbll  afiGu 2 A
BlerGermi L b Qasvdlma. @ ®mer WM o sien 6T6V 4 L_[ T 63T & 61f | 63T
sremenilGena 8 x 10% eraflsy, llsr@armi_ L 9Lt dhHleww &emrdmH G5,

(1) Describe the microscopic model of current and obtain microscopic form of Ohm’s Ia@

(if) A copper wire of 10 m? arca of cross section, carrics a current of 2 A. If lb@r of

clectrons per cubic meter is 8 x 10%*, calculate the current density 0
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Qucsﬁ““ paper 2019-2( (5)

o efleorngsmer 2019-20 / Model
oy - X1 STD

uetTeofleTevorLmb V& -
(SO HOID %brh%]mu;mﬂtzﬁ'll‘ l-ﬁ!:’*’n-n:i,llln}r,:l l::.ngliﬂh and version) _J
AN
:nmtb ey : 1S Fudiitb + 3 toemf] M';:l:?:n X IGJM;T;Z: i;u
ime allowed : 15 mins + 3 hr: %\"
HPleyeor: 1. J":;::?J@I :;ﬂmd.&@th g o sl ot F:ZT:MI - anr:e';u;:flr'{

‘11 b
Qanehenayd. st Lihalled @Wﬂmﬂ@m - ny

o_Languinad Ggflealhasad | 0 | |
2. [Heuthb ebevgy S(HLILY e o flenant ar@pﬁfﬂfﬂlﬂj@'” d& , ,,,;; :-:Jd:{ﬂ@*‘ I lm'@;
LIGSTLI &% Garar(h bt mIbel auaIBINEGHH G I6b1 TG i,

: e arintine S there 18 any [ack
Instructions : 1. Check the question paper for fairness of printilg of f,
inform the Hall supervisor.

: 1 Ir lagr:
2. Use Blue (or) Black ink to write and uml!h pencil to draw diagrap

&SIy : @aiefenn s e praii Lflayseaend: ©)ah/16VTLA

~~

a1 GaibOsbdHl AN @iy

Note : This question paper contains four parts

(i) Bsapp  QunmsSLOTE
oL ufleneanujLd GT(LPSIS

Note: (i) Answer all the questions 15 x 1=15

(ii) Choose the most suitalffe agswer and write the code with the corresponding answ,
1. 1,2,3,4 wmmyib 5 ersvrmy @ﬂULL gl LbGISH6T 6leucGaim HIredsenme G
4) womi (4,1) erery GPGSOUCL. Gomyl y
Doy (4,5) ererm GUGELULL GFTIQL UBSISET §
b etewfley, | etewmd @Wldslul L ubgleT e

aflenFenwiujo ®
SHETEMLOWIT \
) Cririfleigm L LD 9},) 6TSILbleTemmL_ L LD

(3)) e MM G) F) 2 mISWTSES gnm @) WeTs)
Five b ed 1,2, 3, 4, and 5 are suspended by separate threads. The pairs (1,2) (
4,]

an ﬁl 1S

a

el (peTemsor.

HeuTFdF allemsulid

utual attraction and the pairs (2,3) and (4,5) show repulsion. The naturt

ive b) negative c¢) neutral d) can't detem

S
O

2. sgpeubleurarmio A urtiueeyb, s H1%EhdH@ Gent Guiwirer (3)sni_GQeiefl d-ujb *
BT63T (&) SHL_(H 6 LIL_g 46V D_GTETEUTM)| MeUdHE LI (66N 6vr. cﬂim'ﬁ}ﬂﬂﬁﬁ[ ALY
DeTC %455 Hmerreng)

Agg Agg

A) 7 %) 0 @) E;_u ) HAco
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P id - 0
I 4

- -] & l' . ! o :
¢ resultant capacitance of four plates, cach is having an area A, arranged as shown above,

will be (plate separation is d) @

Ak Ar
L) He hy) 2Eo 247 1Aeg

T . " . : )
; '59”":"‘" ool (PHeV  ommid (@) redvri_mib allglamenr sty pflallarentn 6
DG LILIE® L1 dhés Glan ainr i eme ?

9)) ‘mﬁ‘?‘@f“'—'—lh LmHmih B},M M6V 9),) 9),MHM6L WwHmLL 16T 11D
@) 2L 1oHmid 81651 657 (1.l 35 1 7F) -9LMmmeV mmitn lesr Besrm i Ny

KirchofTs T and 11 laws arc based on conservation of

n) chnrgc and cnergy b) cnergy and chﬂrgc ! O

¢) energy and voltage d) energy and curr

. spaubleunermun 1Q 16] 681 gy 61 WwBlIyen_w fe GHEW | _WIT5HINGSET 1I1_5Hl60 D_sTemsuTmy

@emrdsLiuGlerenen @)dled A whmy B 8 4 @mL_GuJqur

H 5 6 e C
a) : Q b);ﬂ c);ﬂ 0 £ 10 ;m;%m
7~—D

The resistors each of resistance 1Q is connected as s i gure. N
The resultant resistance between A and B is pad ¢

Be-

THIIUWISTT L ST 5591

o |

2) = Q b) = © d)= 0

lesr@Germi_ b urwyh el angeu umstwdBleT mwwsHD o srer HTHSLYME B
steorss, WlesrT@ermi L b wrmrwosy G  Gurg sumETWSFST UTS5MS
(3) (L0 L_MB1 & T ] 6uTT 6V, EHE'G'IEITHJ'@ Bl6L &rhG L1L|eVSSl6TT &l LIuTsTSy)

@)— ) 2B

<9|) B %)
The magnetic field at the centr*mrrent carrying circular loop is B. If the radius of the loop
1s doubled, keeping the currw same the magnetic field at the centre of the loop would be

a) B @— d) 2B
lesTenmi_L_Lb @ F6U (HNTIQEMNT 2 6L W Sefl oaFITeNSH 1 SOV
CrriHgier 9 mgl. Garent @)L UCluwirsd O eTeiTs, YemevaynIr SMES DS

Cl&m) @& mevT ,5? sV Frrew &hHLILIEVD eiTm) GlsTHEsILBD QUTIpS D|SeST
9)) Carenr @)L LGluwirdd 0 wrprwe, ST Jmevay CrId Gemma NS

9}) emevey Grrid wrmTwsy, Yyger Gosrent @)L LGlLwired 0 Hsomd na)

%)) Garewr @) LGLwidSA 0 wHMID BT Hemevay Crrid @) reaw B WwTnHTS)

) Garenr @) 1uGluwirdd] 0 wppith 9|seT Jewevey CHr @) redvrHiv Gs»nEns
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A simple pendulum with charged bob is oscillating with time period T'and let 0 be th,
displacement . If the uniform magnetic field is switched on in 2 dircction perpendicy;

plane of oscillation then
a) time period will decrease but 0 will remain constant
b) time period will remain constant but 0 will decrease

¢) both time period and 0 remain constant @

d) both time period and 0 will decrease

7. AC Lﬂﬁirﬂﬂmi)lﬂuﬂgjjﬁrmﬁwsb gimerflsr arLpmdlullesr G 6w b @[“:-l!}t

G'!urr@gd. arenT_ il flsirenflwids @ allsnawirergi
9) wrHrg o) @Quigliurgd @) ur i iF) 4 lﬂL_rﬁjmrrf

or is doubled, the jpq,,

If the angular speed of rotation of an armature of AC gen

will be
a) same b) doubled d) quadrupleq
8. £Cuy Car®ssiiuc Berer et wOIL QBT quanyy,
et gmenTig ullssr 1)sir SITUTL_§Y| & TeuT (0B
<) 318x10"H o) 1/100n H N’: ) S0n H ) 6.37 x 107
' l
l
I
I
:
|
|
|
|
0 50 100 150 200
Frequency (Hz)
From the reactawe i
quency graph given ab i
T POl given above the value of the inductane
®
9 ﬂm@@sﬁ@wgﬁv@ STremTD
3) orgd@ o iy

%) Y© 95 THArrafiy

&6V
FF) ﬁmaﬂmmm{

inkle due to

.l\mcctmn b) total internal reflection ¢) refraction
H.\m@s)ﬂm,g Clgrenave) o_grar &all Gevsirdsir Gaflwg;

suLfluimrs Clou L i@ QUW@@.

d) polarisation
QBrensve) f Qevsirsrs

PUCUTH Lirhufeir Gallwg s TemsveuTans)

o) 172 ) f
@) 3172 ) 2f
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The caut-c " .
Mm; ‘Ll]lll convex lens, has a focal length . The focal length of each half if the lens cut along
IS
(/2 ‘
a) b) | c) 3172 d) 2f

B1oefler om0 WOMID 9. 1Ny 9| WGV[G 61 HM TG DM MILIT_1g.6n6aTds (8014 @)1D

QIED I LIL_LD o LT et L ewauTh ) 6ir 6T 7
P P
9)) i i 9}) @)pt m " \ Q)
A A

| l< ’
Which of the following graph represents the variation of particle momentum and assoc e
Broglie wavelength &
p P
a) | d b) P c) "‘t d)
A

A

A
PO &S (J)ewemnrey mBlapafilsy @) e vy b .g;@ésﬁ@éssir m; mHmLb

m2. 2_(HEUTELD Y)amIdiam Blewm m; eTesflsh

a) m3=m, +m, b) m3 =(m; - m,) ¢) my <(m; + m;y) m3 > (m; + my)
If'in nuclear fusion process, the masses of the fusing nuclei be nd mz and the mass of the
resultant is ms, then

ﬂ} M3 =m; +mj b) msy = (m, - m;) c) my< ' 2 d) mj3 > (m, +m2)

DT swMIEDD  I@VSLBSS  eapay urL  dsrarpssn
UISTS® L ujL_65T (B)emewtdias i1 mev, apoleT g5 LGHuls) LEnLileTCami_ib
Liruyin?

2 0° - 90° 23) 90° - 180° % - 180° ) 0° - 360°
If a half wave rectified voltage is fed to a load stor, which part of a cycle the load current

will flow?
a) 0° - 90° b) 90° - 180° c) 0° - 180° d) 0° - 360°

wev pm yorardevfer srGerm L
Sy Gurg egpursr WlsrGarmLsms
eurils flerGarmi_L_gglei wmrmHmid
9)) 0.2 mA 2.4 pA @) 4 mA ) 40 mA

The current gain (B)@stur In common emitter mode is 40. To change the collector
LC

current by 160 mA a anl Vg, the necessary change in the base current is

a) 0.2 mA @ HA c) 4 mA d) 40 mA
TR LIRS STbS i Qeustr Qb Bt o7
9)) 20 KHz to 250KH, 25) 300 KHz to 1500KH;,
@) 10 MHz to 200MH ) 3 MHy to 30MH,
Which range of frequencies is suitable for sky wave propagation?
a) 20 KHy to 250K H; b) 500 KHz to 1500K H,
c) 10 MHz to 200MH,, d) 3 MHy to 3J0MH,
103
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U@ﬁ = PART - I

Toalugc Hm o
Eﬁ'snl_msﬁ'ésﬁsqﬁ:-
Answer any siv questions and question number 24 is compulsory.
: ‘1 TEIT (ETHLDT
6. @5 su Werarygss urnysst geTmpPaTSTD) Qeul 13 SCSTETEHLOTD) Qg'mm‘ﬁ

STTSTL & ms.
Can two equipotential surfaces intersect? Give reason. @

17. PHLU STSHDH D60 8_(HsuTSid Gsuiun FDH D6 Lﬁ];h'g,ml_é@ (1) ﬁﬁnﬁ} Lo,
(il) T8 igzsalsd @ Fuusharar PubsmeTenils D5

Under what condition. is the heat produced in an electric circ
inversely proportional to the resistance of the circuit?

1) Y Proportiong] 4,

8. Bl & E: warefusg efessepn n & ¢ S Qe
W Ly
: L ELE2.1l & 12 g
and E», internal resistances r, and r, jg,
expression for the current through g,

LISTSURISST uss @snenTiLlse R-stetm YD
YD sTsn_uflsd o _HuUTHW WSTEaTTL L. &

Erg-gja.
A parallel combination of two cells of emf™s

supply current to a load of resistance R. W

in terms of E,. E-, ri. and r-.
19. RMS WISTERTTL L 5505 SUSH TW ). @ Casrensusniu sTws)S.

Define RMS current. Give its e@
2 UQuwiE# m"si'rﬁmﬂ'_ue'r

20. D sTsh
STRTMT6V sTE3TSIT?

What is displacement curreft>

s1il oL aflenseyd @i o_siar Coaumiur®ssr wreney

21. SIS LB alsnaral Bk
What are the di Eerﬁzmvten interference and diffraction?

)
(]

STSUS LT T 53T gt DMV 25 eV geafls ST 2 Hsd  wHmb g L

gmﬁjﬁ% EEACES
Cal '
alculgge the Mgmentum and the de Broglie wavelength of an electron with Kinetic ¢
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27.

28.
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Name the logic gate equivalent of the output Y. If the same waveform I/P is given to both the
inputs A and B, draw the corresponding output waveform.

: : — A
o f D e

| | B
| I I |

aurer Gleuef]l 9jemev Lirauedlsy &Ta) Ggrensua) oHMILD HTe| LOESITLEILD 61631 M6V GTGHTGOT L
What is skip distance and skip zone in sky wave propagation?

u@al — 11/ PART - 111
6T6m 61 (B 116w) LD 25LMI srﬂsu'rrr.ias@ai;@ sflem_wefl&s. allerm erevor 334
alew L werflésaib.

Answer any six questions and question number 33 is compulsory.
UL S0  STigwuly prevg yeref WleTemrl_ L BIGHeT (&
epemeusetlsy  (a) wmmun (b) QBW @) (pewmHeTeV

WL SHTIVID &8ITSS)eT emwwsSs (i) LhsiTemripssLo LDA
BIH&HGLT Vg rmul B &)wdEwT? srer?

Four point charges are placed at the four corners of a square Ways (a) and (b) as shown

in figure. Will the (i) electric potential and (ii) electric field entre of the square be the
same or different in the two configurations and why? OB

§UTL|6ULD FLOLOT S

A B A
+qﬂ\ ’_-"' tq f".+q
\ ! >
@ | \g7
.-'f T r
/ “ “\
2 I by L
ql N-g Mg
D -g C C

3 mA VlerGeorm_L_ggm@ 12 Q Lﬂmg,

9|6meyBamredleD (ppallevdsid &L 51 @)ewg 0-18 V o_snw GaursDl 1F1_L_rraseyLn
0-6A 2_ewLw O Lgrse|n sTg Lo Hmyeumi?

ives full scale deflection for 3 mA. How will you

QamenTL. (H SHTeVeUaTTLI L LT & (6T

A galvanometer coil of resistagce
convert it into a voltmeter of ra \ and ammeter of range 0 to 6A
L] 607 gy 6vT L9 Wil 6L G&Lﬂéﬁﬁﬁ@ﬁ)p@ﬂémwm Caremeusmw au(mail.

' M [
Derive an expression for %}r stored in an inductor.

WWos 6TS6lrT SBaT BLUbBSMaTHEET Wreneu? wrmibleme) Gsrentsslmaret

Casremsusmi %
What are the® & for total internal reflection and derive an expression for critical angle

2200 A gewev f_mel_u_l gafl, srilrsdle alluwn Gurg qafl eTeV&sLyreTsst

QaueflGumml u@Sermer. (i) vwer GsT_&s g msevperd wohmin (i) BlDISS
lerasT(Wds5ms5s sl (srllrsglsr CleuallCumnmn Qmmev Pe=4.65 eV )
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32.

34,

‘N

\ dipole along the equatori

. Qar@satiu@sten LGS (pei1 Gearirdh &

www.Padasalai.Net www. TrbTnpsc.co Gtrﬂns arc ﬂmlllﬂﬂ H'G‘.ITI [l. Fi
When light of wavelength 2200A falls on Cu, Ppi‘“r“ cle g,

: ction for Cu 1s 9g=4 ¢
threshold wavelength and (ii) the Stopping potential (work T 3oy

mﬁ‘—‘miﬂ'&ﬁ'ﬁt ﬂ;nmn*msv ughﬂ @gﬂuq a1 eMmT .

Write a note on hydrogen spectra. NPT WY, :
girii) WP LTSS g,

SNEG0 v Gur@ssT wrene?

. - ard bias .
In the following diagrams, indicate which of the diodes are forw E@ Whi,
reverse biased?

) i‘*?\' h)rl_l D} %_?Zv c)

@® Wsrgem_ssr QgL i @amentiiy WHDID L& @mw@x
Sauplsit Qurss srgemissr 15 Q wppid 56/ WYOPBW, e

WlsiTsenL_seneruid &Tes.
When two resistors connected in series and parallel their'equivalent resistances are | 5

56/15 Q respectively. Find the two resistances. \

-S5v

) @“’Wfﬁtgth (

. Jeraflsir gyamay 2x10~m 2_enL_w (5 Lﬂms@l‘@@m pempGw 590 nm whHm;

VBT WL w @) eflés mg‘jmp@ﬂ&:q allemerey 9)emLdeTmer. Ljh.w.rm,1
e @ len L Gu Gl Tansuay v, Q)m Gpieymeflsyid 2-HOUT (10

GlLmL sileflbyy allemeney uLm@E:mLGmmn‘m Glg Temevemsu s & 69T & 5 () &5,

The: light ni: wavelength 590nm, 5 are used in turn to study the diffraction taking p
a single slit of aperture 2x %T’he distance between the slit and the screen jg

®
\:DU@W—WI PART - IV

ﬂ@ﬁ@@@@.ﬁgm sxﬂsmt_msrﬂ{iaisqm.
G emeuter BI®msefle UL 1p SUEH TS,

Answ

questions.Draw diagrams wherever necessary I x 5=
3)

ullsv 2_(Heum@ b Lﬁ]ﬁ'&rqsug-,g]‘r_;-,
efine electric dipol |
pole. D
pressio :
Al plane n for electric field gt a point due to an ¢
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1) lﬁ:?.:ﬂ':!irn.‘lih.ﬁﬂﬁﬁif fsraflwg@allamamu g IGaphe Gard fil L amrail.
L SSTET (10 5 Lo m ) Anpama). oreh?

By 10 Explam the determination of internal resistance of a cell using potentiometer.

) Why s o potentiometer preferred over o voltmeter for comparison of emfs of cells?

:,:'; Lq’] l{l - l;':l:?'lllll ii-'hm!ﬁ]hi) G}'I'I”'[Jl:lj]r'il-'hli” I@Ih l'm{i;”ﬁu,”["fjl}*’l”' ”Ifhm”:" lmE&TGmnlil-ﬁl;ﬂlfb@

n ] L] ¥ & i J "
_@u'n'n knllln‘l,u’ﬂ 1] lfﬂﬂnn;uu Hptmmien (B0 ﬁnulfj,pﬂ!uﬂ.rl 6t (B4,1 GHIGISTHILI E:ﬂ{f_ljmﬂ.
(@) Derive an expre

sston-for impedanee and phase angle between the applied voltag
current v the series R1LC eireuit.

(OR)

(9)) AT Qovedn 1 163G MMy Bledt 16t em i eh WHMID GUIT I |45M6T B LI
" o " . -
LiswTiatimmur steusua my ol i in v Goumdemg jeflaalmg?

(b)  Give the advantages and limitations of frequency modulation. W modulation

provides high transmission speed?

36. () NI FwSTUT nL aumal.

(@) Denive an expression for mirror equation.
(OR) \

() WeTGamiL b ury Fewe eufdsmeflsd

G STHELVSS DS
CasTemsuenui eumall.
(b) Denive an expression for magnetic field due to @ﬁnt carrying solenoid.
(9N(1)  m mSTGewrmdSluflesr Lﬂﬂﬂp@;iﬁw@mmwmmﬂ Glumis.
(1) menGaniTéal earmler GQum s
Spalwemmlest (@ alluiggrreger

L
~1

] SVEETE WMMILD HESTEwT(H(ES olsvsiTs
mGw 5Scm wmmyo S50cm. B} (SHLD

mie Garraslullesr Gy tib 30 cm 6TEBTISY,  B|EBITEMLOLIL|SITSIT

soyplemey  @Gallwiu®szisetlsv  sTHU( L

5.

Gwiu®)sH G560 WD

. L o
2 (IO LI & & M1 & em 6T S
S

(a) (1) Obtain an expressio ving power of a microscope

(1) A microscope Mag an Objective and eyepiece of focal length 5cm and 30cm

respectively i ¢ length of 30 cm. Find the magnification of the microscope

in the near poj d normal focusing.
|
| (OR)
|
|

@
(94)pp smev Fluflesr gemwiiy wHmib CFwLL@GID allssms allers s

(b) Explain the construction and working of a full wave rectifier.

38. (9)) hsvadlsstr (emmulled eTevd:L_rreasflssr WlsTeanr L wgluemuds sTemih Csrsemarsni
611l 61T éh (5, .
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- : charge 0
(0) Explain Millikan's experiment to determin® the

(OR)
" et LIGTITLEHENET afley

@
o magnetic malerinls.

() i, L inpmith od@uri @ &0 1!
din, para and ferr

() Discuss the propertics of

N
OO
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onglifl efleorn gg e 2019-20 / Model Question Paper 2019-20 (6)
Uettevfleretor_mb eu@iny - X1 STD
Qwmiuied - Physics
(SO DD 9 hdeowb sufl - Tamil and English and version)

$TULD 26Ny : |5 b + 3 (pemif) Lo G svsrserr (70
Timc allowed : 15 mins + 3 hrs Maximum Marks :
splayany ;1. ;f@’i?@gu Gﬁmnéﬁ@ﬂ: Fwng &40 Lbains) o eTengT cTGHLING & &
nenenayio. udH' ufalled GemulmLTST Semh  HeTS b
2L unsg g flafldsan
2. 5@!-:? éfﬁillﬁugﬁ HHLIL| LIS G1(LpGIUSDEGLD 2119 5519 (B eudg@Lo WL (HGLo
| LWIGTLI(h &% Gauetsr(h Lo fiseir UTeUBDGLI G tetrFlen) Liisht LD.
[nstructions : 1. Check the question paper for fairmess of printing. If there 4 ck of fairness,

inform the Hall supervisor.

2. Use Blue (or) Black ink to write and underlinc and p

f%mw diagrams.

5&571—'“4 : Balallewnggnen 16851 Lflasenens; GlsransTL gy \

Note : This question paper contains four parts

L&) 1/ PART 1 O
O

S0B(hSH — HFeh  @muTL (hLetT

g" : 15 x 1=15
| ¢ code with the corresponding answer.

m et @)mupsmarwrsrg 30° Gs 6907 & &1 6V
mer Wiy 4 Nm gy,@ib. st @) mupenssuilsir
T S1sarflsT WleTenmi_ L eTevs LogiLy

@Ol : (i) iemansg aflennssemd@in aflenL_werflggaLb.
(i) Bzsapd  Qunmssiones  afeoLufenes
aflenLufleneuuyLo 61(Lpg)%

Note: (i) Answer all the questions
(1) Choose the most suitable answer and

l. 2x10° NC" wdliysnw simevg
MeusSEUIUGHSIDSI 9|8 L 5
Berib 2 QFLS eresfled, o)55la)smer

a) 8 mC b) 2m c) SmC d) 7 uC
An el_ectric dipole is placed gle 30" with an electric field intensity of 2x10° NC™. It
experiences a torque equifto 4 Nth. The charge on the dipole if the dipole length is 2cm, is

c) SmC d) 7 uC

a) 8 mC
2. Qﬁw@é;aaﬂui@sh&ﬂ A wpmih B &@ @len Cuwrer Bsirarpss Goaumyur®

a) -3V \@HV c) +6V d) +9V
®

20)
VA > SN ||'| }3'«! —ﬂl.nrr]w vB
A =24 i

The potential difference between the points A and B in the given figure is

a) -3V b) +3V c) +6V d) +OV
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- ' BrirmLHd)
3. 4 L eAhme @GHsre e—ar P 0D _ . :
tﬂz;;:'n':' fbr;nfﬁill‘lﬂﬂﬂ)@l- P srebrm 1 jeieluImeTS) @) B0 B! AYsHG HUSHIOTS il

: ' G ClEHTang.
Qaravevnild o sreng). Guogud Q srérm WwHEDTEH Leraflimenigl IFH OIBTMag
sren ). I e 1jsiafluiled o_GIT6m &
b) Q o5& JIDLD

L)

Giom e ymiors o [y (|6ULDIT 6OT ]
a) Q afled @mriens i FHID
¢) Q aflsd @ mrieng aill &M

d) ferGermi_i_galedr GIIeDLILI

@) (Mm@ 10.
i fice ds. A pQi * he
A vertical straight conductor carrics a current vertically upwards. A pqint : cast
at a small distance and another point Q lics (0 the west al the same dm$ magnelic

at P is

a) Greater than that at Q b) Samc as a

¢) Less than at Q

d) Greater or less than at Q depending upon strength of curr
4. srhsw @ yogasl (H) Gurmiss

& &srhsll  GlumrpefleT 4
shysimefler (K) wrmiur® steusurm) B35 G

@) ) kN \QK (d) o} 3
0 H 0 H O & H

The variation of magnetic sumcplibili(@mlh magnetising field (H) for a paramag

substance is

(@) A-T (b) \Q Ok \ ()% .
H

0] H H 4
ollsefl  Werarwssssler  wHoy N w

Quirpigg Q a6V cﬂ;yﬂaﬁmrrmej @HEDMOIITaQ

0
5. AC. glmeir  aliyens

9SS M&HE 1L 1yensuilsy sTHu®D Flmeir @)l

3|) N LDL_1BI(G ) i 9h) N OLBIEG @enmuid
2 .

3)) n° wLn LD ) n’ LOL_I(& &M ILd

In the transnfagjon of A.C. power transmission lines, when the voltage is stepped up n!
the poweélpss in transmission

a) @ ntimes b) decreases ntimes c) Increases n® times d) decreases n” tin

: fi' &}a Eln I.Lﬂ . z . . : .
.\\ A bmi .‘gﬂ 6uT Lilg. LDIT‘L'D'EBHJEH}LHHEEUUL.L_ Gmmw@mﬁb ELI]E&TU“

ot sl b) 9S§-Ei=ﬂuf
E_) éE_Eﬁ:#n] 149
£p di d) '[‘]‘ il I d
=dl "Trnfc'l*“nEu—r-TTH-
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well's
Max modified form of Ampere’s circuital law is

B.d3 =0 3
a) $B.d3 b) ¢ B.dl = piol

B.dl = 1dq —
c) § upl 42 d) fﬁ': dog

En dt
ﬁﬂﬂ“ﬂs&' @!ﬂ]iﬁmm @Il_lﬂbl_f Gﬁﬁﬁh{g]gf%[
9) GDISEC B aflenenafs 91) oflsflinr | afsnemafls
@) spefidfls e

The transverse nature of | ght is shown in

) Hem allsnsmails)

a) interference b) diffraction c) scaltering d)l’"&
PH OBTOBHT & uNeir o_(MU1GLIm & @8 £me
) o) L ) ~ 69
The magnification of a lelescope is given by A
2) i_: b) },[n_ o) e fn+f{-

e Io

" y : . , ; .
. 2.063 eV qeafliflen Gmmﬂ@u.rg)gu QLMHmensurs Glumm @_f‘ﬁunmu LTI 65T 1LIuIssT

ClaTL_ss 9emevbenin

&) 4125 A <) 3750 A ) 2062.5 A

The Threshold wave length for a metal surface whesc ®hoto electric work function i1s 2.063 eV
a) 4125 A b) 3750 A gﬂ] A d) 2062.5 A
EYSSTL PlwOTHNSSD 6Th5 2 1AL NV LD B HLTS () (307

) n=2 /b5 n=1 ) n=4 e8(mg | @) n=6 afmmbg n=2 d) n=5 a8mmHz n=2
Which of the following transition wi ai ghest emission wavelength.

a) n=2 to n=] b) n=4 1@ n c) n=6 to n=2 d) n=5 to n=2

DT RULSTVSS6T LTI CrY 5510 IsHpsiTer Sjamids & mobsellst sTavraniEams

1
(t= =Tin) .
) 2 ¢y e ot

A system consists m leus at t=0, then number of nuclei remaining after half of a half life

(t= 'TIQ) l\
N

ﬂ)'z—

=0 eresrm SewTHS60 @%‘q 0 D|WUSSHHSBHMeNE: OlesTanT(Hsieng). 56T

N
b) 7 ¢) 22 d) =2
Car@asiu’Gerer ferapple, A wpmid B s@ @ Guumen @'% 1@ Liwsh

WleaT g em1_
a) i;in b) 100 ¢) 169 d) 200
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40 69

2V

1OV

hetween A and B 18

In the above circuit the equivalent resistance o d) 200
) 50 b) 100 c) 16
A=1011 e1eir o_snafi’ 1gemen NOT Gt (i @l @@t GLTHI BT @ﬂlmﬂu?(
: _. )
a) 0100 b) 1000 | ¢) | ”’.‘T
I the input to the NOT gate is A=1011, then its output 18
Y00
a) 0100 b) 1000 ¢) 1100 wh
I'Ul_ll_ﬂﬁif o

Gleuef 9| 6N 6V LirenedlsD), mrlfnﬁ,m-ﬂ’:uﬂﬁﬁl 9|69 () @ﬂ
G}U"'.g]légl ﬁjmlntqlh 67631 L16M ) @Jﬂl’@fjr@lh ainaariim (@

h
2 2
a) V2Rh b) ”_;'. ¢) V2R d) >
In space wave propagation, the range of coverage @ ”@“EH“HH depends on the hej
of the antenna given by the equation
h
=
T

a) V2Rh b) E \L)

Friy gemevullet s 6U6Y|6UIT 6T (LPGULD

a) @ fuwedr b) efledrife
The strongest source of gravitational \

w61 @flemrifier d) & (Hbg)s

g

a) Sun b) Sme ¢) Neutron star d) black holes
@-mmm—n
ToUCLEID m aflel i lEE s allsnLwelssa)n. alerr eow 243 &0
6x2:

alem L_u_rslﬂ&ia;aqu

Answer any six qu@d question number 24 is compulsory.

dleir  ysAh@n  fararwsssdhEn @ G

[:]eﬁne e@zmial. Give a relation between electric field and electric potential
L U C L L] - L] - '
& @n BIECrTd s&iuller e oL 10Q gz Qsauliublensy 1Hesr Heml

W BT Qard Blamevuflsy DIS6T leiTgem L_emuwsg; EHE D). (Y

Ty
stance of a nichrome wire at 0°C ; '
o ai : _ I¢ s 10Q. If its temperature c ‘ i
\ C find its resistance at boiling point of water. Commgnt on the ?:s;:lctlem —

18. Sy wsflsir g, lglenwid; gn m) s, 9|6 semfly aug aflen e Clam )

State Ampere’s circuital layw. Give its mathematical form
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20.

22.

23.
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uflwrpm Wer gre_s STEITM M6V 616076017
What 1s meant by mutug] induction?

@ tQuwid A esr@era GTEIT M6V 616316017
What is displacement current?

@Uuos DMID T LidL1ma; s exen Goum i hmi 5.
Differentiate between

real and virtual images.
3 { - ol L W r
_.-lLUﬂU V. @@ lesten apdhain o sten X- agli @prulldd @) mhol @‘f"mﬂ®
\-a i & efleh ‘a“”'—@ DMV 611 1D nmmin  Glen’ () )it Glavierar .95#% h

&6 & & (Hahs.
Calculate the cut-off wavelenpth and cut-of1" frequency of X-rays from @Ihﬂ of

accelerating potential 20.000 V

NS Uenaflsy, 0.1% mlewmuinengy mmevnd (omHme n@sﬁ%l A lemm

Heray@id Gurs) Qlouafl'ii@ii DM MEM VS 6901 8] (1) 4.
lI@g}r released by the

In a nuclear fission 0.1% mass is converted into energy. Calculat
fission ol 1kg mass.
. rrerdlevi_ilesr CB wmmitd CC ang eiemini’'n jmefadr 166515 H M1 TNy 1 56DET QUEHT 5.

Draw the circuit diagrams of transistor in CI3 and C'C mudu:;\

uG# — 111/ PART - 111

sTemauGWIg|Lh  oym aflermda@end@  eflemi umﬂéO'Tmrr 616981 335(3H 1 1M UuIDIT S
allew L wefldsai. 6x3-18

Answer any six questions and question number 3 Jois®gmpulsory.

@®m Glurmerssir FATEImTel_rerm GuyimHid Guirgy 9emeu 52616 eu T ear sy ib
S gL S0nC lsteri L ib o (me 6; @)o1AlGTEnri_L_Ghens 2_(HeuTHS F)L_1b

Gluwrs QFww Geusnrigw 6TeVSL_rreysaflar o1enranflsamaenw &en1dhsl(H 5.
ol
e

When two objects are rubbed with ¢ ;, approximate charge of 50nC can be produced in
each object. Calculae the number of] 1s that must be transferred to produce this charge.

sfslledr Glsuliu allsmerey MR

Differentiate between Joulg's &
Wlest wrmmluflsL symu )b
Write a note on energy o

T allemeremeu CaumiuBs8! HTL(hs5.
ct and Peltier effect.

c

@lysemer umy] GWIOL sumTs.

ﬂn nsformer.
LDEBT LIT L1960 63T 6 (&l

resnel distance.

Jr@msv Glgmensv
Derive an expressio

speri el eV sV HTenTL_ SHevrenTmiguwrs) GleFuwiiul L Gevsita: peTnlesT 5 mesT
+5.0D @)k spaflallevss Tt GleTanTL Flreuld spesTmle (LPLPS snsusSLILIB L

Curg) @fﬂkﬂh 100cm Qasrewr.  aflflé@l  GevsitevrTs wLTMISIMG sTsshsL,

Freus s speflaflevssv erenr 'n’ @6t WL eTsiTeor?
A thin converging glass lens made of glass with refractive index 1.5 has a power of +5.0 D.
When this lens is immersed in a liquid of refractive index n, it acts as a divergent lens of focal

length 100cm. What must be the value of n?
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ol o_ 101y 161651 3 60 g5 o) 657 | EMLOLIL oMM

Write construction and working of photo emissive cell. .
i bt ;- )6 a“”’) mlem ;

BHMNuGs Qawsonn@ | curic s161flHHE@D Grrig whHHeT (ssRa™") plenm Sfﬂ)a;@ml

ST ®Bmi” . (T)- 1600 9},6991 (h) 611 ) o
\ _ : 2 1§ almot
Show that the mass of radium (HRRHM') with an activity of | cure St a Bram,

TI‘J_' 1600 years.
Gla 6o i oL Guin® e 1fsrerapdhs oG LI GHNIT 5 @&mwlh &l

ﬁ"lﬂﬁﬂd.@.q,,
ExXplain how a zener diode acts as o voltage regulator. Q

{J‘: @)t mesreninaein IDMMID QT DL &6 UWITEN )
1atare the advantages and disadvantages of FM.

u@gd —1IV/ PART -1V

QO

(AN AT Y @-!Fmisi_]u@

gfmﬂ?;ﬁgu a‘aﬂmn.:iias@d.@;h oflemi_wiallgamab.
Svanunen @)i_mnrnaflsy Li_th alenirads.

Answ * quest '
wer all the questions, Draw diagrams wherever 1

SKS=

9) Qseflaumen illedran iym) LIL_ g3 1_63T 19.07IT6BT

.. sulda ey, o_enel @ wHmib eueaf §MEV 61 19.6) RIS EMET 6N T S;.
{ esen > ' ) ' ' '
scribe the function of a (ransistor a iifier with the neat circuit diagram

the input and output wave forms. S@

lesTamiiLy M6US S LI L (H 61 S e 671

%) AOWSLH A G

aflsneareysener aflflars 6T

b) Explain i '
plain in detail the effect a dielectric placed in a parallel plate capacitor.

- 9) (1) & j '
) ( TTRT &g @ NN O\ [TTTLATE: A7 Were L ib  Qubm el
&b

afﬁﬁ‘@mﬂh@é;

(11) 0.5 T ol '
® MM Qreppenw  eul Ly urengenw  GCumesmrer
:

6T6VSG; @

FLOSTUTL 19 en 6w au(pa]l.

| Blwedy eresren?
i ’ '
(i) Derive an EXpression for laterg] magni

fication ip Spherical Mirrors
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(11) An object is placed at
15.0 cm,

image?

a distance of 20.0cm from a concave mirror of focal length
What distance from the mirror a screens hould be placed to get a sharp

What is the nature of image?
36. &) Fipiy X-a &) i senent) uml - @afliing  eiemrs. inmsHIe  HAFens  WwHMIWD

Q5 M g1emm a efls X-a )it sefledr Liwsstiim (HHEMET Gy 5 (H5.

T " -
a) W rite a note on characteristic X-rays. Give the applications of X-rays in medical therapy
and industry.

(OR)
) 1), smibae emmuils 1ferenmt’ 1 mlemmd, dama| Hiram)ih Garmenesren il m@

r

b) Explain JJ Thomson cxperiment to determine the specific charge of electron.

37. @) gpeop  terellarmey amuin  ellaflibyy  eflsnenaymenst  aflayfs
AmiwsS S Hasren MILIH 8 69 637 6w L) GlLum) .

a) Discuss diffraction of sigle slit and obtain the condition for nth minimu
(OR)

%) 20 splsd AC@)er srmef &M &9 8> 5 T 6v1 G’mrrﬁmmsmu_l: @. 9T FImliy

Crreysener aflauf. F1flg SImebdr L6 Geormi_1_sems el
b) Obtain an expression for average power of AC over a
explain wattles current.

38. ) vlensewLwrsHsst Gsmflenewriife oM miLb enenTlIeD 2 _sterGuUTs)

ClsTGLWeT eaTgemL_sarar Garenasnwl) G
‘ms in series and in parallel.

Lysener ailerd @s.

Sl

le. Discuss its special cases and

a) Derive the expression for equivalent resistance o
(OR)

Q) TS rreflu $&ais) Qs Tty Semiol
b) Explain the elements of an electronic cu%- ,

ion systems.
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Bupwed ( ondf eerndgmer-V )
PHYSICS ( MODEL QUESTION - V)

oeurIT GTevT T |
Qn. No. L1213 )a|s5|6|7|8|9]10f11f12|13]14]15

aﬂm’ﬁ@@ﬂ@@@&%%@%.ngFﬁ@@@W

— 1 X R — | L | |

ANSWERKEY | c|c|A|lB|B|c|BlD|Cc|Dp|D|lC]|C|C

Qupifwed ( omrhif aerrggmer- VI ) /@

PHYSICS ( MODEL QUESTION - VI )
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e eTegT T
On. No. L1213 1456|789 10| f12413]14]15
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